|
“ - .; '

FE#) X- XY AF—=2

Manual X - XY Linear Stage

XM:-YM>)—X
XM - YM Series

- ¢

D-030pasge ‘ ‘

D-010, D-O14page
D-O18page

D-010, D-O14page
D-018, D-020page
D-O16page

HEEE Motion Range T—7MMAX TableSze EYF Model Number

D-O36page

JKFERMEE (N) Horizontal Load Capacity (N) 20 40 50 60 80 100 120 150 200 300 400



EXA

Industrial

RERA
Experi-
mental

FEIEE
AF=
Manual
Stage

=L
Rotation

AANIL
(I==)
Swivel
(Tilt)

[ElEA

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

7354
XU
27—
XYé

'-5-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
g—3>y
Applica-
tion
ET—9—
RS4N
Motor
Driver

'T—9—
=7
Motor
Cable

g%
Appendix

D-002

FIHX XYRTF=DHAE R

ANYYIRDRE

Understanding Specifications

Understanding Manual X, XY Linear Stage

YMO7A-S3-CL

ANy Specifications

HEA Description

BK @ BROLHTY .
Model Number YMO7A-83-CL Kohzu's significant alpha-numeric model numbers offer quick product insight.
BFEORR @ BEROIH T 2RBFHEORR T,
) =% YMO7A-S3-RRR-CL Mirror symmetry of standard stage... see pages D-004~D-009 for various configurations and
Mirror Model Number . o, A
their specific model number extensions.
T—7I)E @ AF—IF7—TINEDKEETY,
Table Size 70mmx70mm Table size refers to the stage's valid mounting table size.
ESEN BEI/OAO—FHARN @ ATF—VDERANEXTT .

Guide Mechanism

Cross-Roller Guide

Type of guide mechanism used on this stage.

BEFER

Motion Range

#88) 13mm, &) 0.3mm

Coarse 13mm, Fine 0.3mm

® PUREEEELTTIA VAT ATRRLET . BRI a3+ —DBEIE BB EREB TOR
B ERRLET .
Stage travel range in the positive and negative directions from it's centered or neutral position.
Fine Pitch Positioner types will indicate total coarse and fine travel ranges respectively.

HEE B — ® RESFEBBLTTE.  —RESEP-004~—
Straightness =<H See "Kohzu Stage Inspection Standards" section, page P-004.
=\ ) #88) 10um/BE&, W& 0.5um/BE | @ YA VOX—ZA\YRETHRARDIED TEDR/IMETT .
Minimum Readout Coarse 10um/div, Fine 0.5um/div Minimum readout is the smallest measurable value of motion.
E—XMMTE . WEHFESBLTREL, <&&EHFEP-006N—
Moment Load Stiffness 0.2 arcsec/N-cm See "Kohzu Stage Inspection Standards" section, page P-006.
KR E 53.9N (5.5Kef) © AF—JhRTOBMALERTT,
Load Capacity (Horizontal) : : Maximum load capacity is for a horizontally orientated stage with load centered on top-plate.
ME TIIEE FIEAINTVBHRZERLET .
Material Aluminum Alloy Material specification is for stage's main body components only.
Fas Beft ki O HEROBPRENIEERLET .
Finish Clear-Matte Anodizing Surface finish type and color.
5% 0.93ke @ REOEETT.
Weight . Stage weight includes all components depicted in product photograph.
BRE <20um/13mm @ 2R EAT—DEREZRLET.
Perpendicularity = Perpendicularity (or orthogonality) between motion axes in a dual-axis XY stage assembly.
ExE A EEART 2 — FPP03-13(13mm) | @ EASA TN 7/ F1I—2DRRNERBEBEZRLET.
Actuator Fine Pitch Positioner FPP03-13 (13mm) Actuator model number and travel range.
fiii& @ RERZOMEERLET .
Price(JPY) ¥152,000 Catalog price in Japanese currency
F—IN—rh— LB . ® F—N—F—LOBRAERLET, —15K—
Overhaul Price ’ Overhaul price in Japanese currency <+16 page
D=2 PV ) A3t 24000 @ 7= JVANOREERZRLET. +—C-003X—
Clean Room Lubricant Change Price : Clean Room Lubricant change Price in Japanese currency. See page C-003
B2 AR E ¥24.000 BERJYANOREEREZRLET., «C-003X—2

Vacuum Lubricant Change Price

Vacuum Lubricant change Price in Japanese currency. See page C-003

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181

[E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



EABN

Guide Mechanism Type

®/70AO0—574 1K Cross-Roller Guide

JORA—SHARER. 90 DViBER DO—SL—AEMBHIAONDLIENAR
TF (M-188) . O—5L— ADOBHESHEANMER LT IC K FTEEORESS
BEICH EFSATOET. BEO0RZO2ADO—5L— AHEN 22 fIcE -1
VEVICRBSN TOET. A7 —UHRE T BRICIE. O—5 L — A LA EKOME \ | Fig.1
OOAES DI, EILEDDREEADEROE (B EREBEREDE) HNEL BT RYHRI VI Lo TOE
¥ F e YORO—SHA NS SR THEE X2 5725, R—IL A ML EREAE< Lo TVET . 2O/OZA0—
SHANE. AR SN RIS RBEOBVEDEEAL. O—S5L—AEABHIONOFEAEZICBEL CHEE
EHELTOET,

The cross-roller guide is a limited stroke linear and bending guide that consists of a roller race and rollers. The roller race
has 90 degree V-shape surface and it is harden and precisely polished. It is not only had a polished precise surface but
also precisely correct 90 degree. The cylindrical shaped rollers are inserted between two roller races and they are aligned
alternately. When the stage is moved, these rollers are rolling smoothly at the same time with the same tension because
the gap between roller race is correctly arranged and maintained for the same distance. There is no slipping, no stopping
due to the effective contact. As one of the feature, it has highly rigid more than ball guide because it has a longer contact
line.

@Iy 7—% Gothic Arc

d2vo7—oEld BRBEOREEmER—IDPOBRDIERNANTT (K-28R) . #H
FOBHEL. T —T I EN-RICERMTEN. EANREL LT ELOTVET,
R=IUE BHEOESBRABOBICHRENTRESN TOWET  BRABEER -
& EWVNCARTERRYT 272D, (FB T ANUDRIVISKOBEICEOTVET . £z,
FEEERIIR—IORESTITRDN. SR/ PBLTVET.

Gothic arc is guide mechanism that is consist from the pseudo-cylindrical sliding
surface and the ball (see fig-2). This sliding surface is processed into both of table
and base of the stage, and finish in quench and grind. The ball is set between
groove of sliding surface. The sliding surface touch the ball in each 4 point, then
this point contact mechanism not likely to bring up differential slip. And the size of ball is used for pressurizing control, it
bring decreasing of parts number.

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

Manual
Stage

[ElEn

Rotation

AANIL
(I==)
Swivel
(Tilt)

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

7354
XY
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

T—9—
=)
Motor
Cable

1153
Appendix

D-003



R EEEEESEEEEEEESSSIIE=ESSSSSSS
FE8X - XYRTF=OHLEV R

Understanding Manual X, XY Linear Stage

EXA

| REBF. SHEBF. Z0%
Fo Standard & Mirror Symmetry , Vertical Configurations
mental

ZERIIEU T A7 OX—RET S T EEAREL TR T DB FARP. ZARICRETHENLET,

Micrometer and clamp position can be customized to meet specific application requirements at no additional cost.

M | N
Stage FHZRT—T (X181 T) i XA T — S8 REREA T D AZRA ALI6DTE . <A SO

Micrometer Holder

The bracket type vertical linear stage (-X1 type) has an X-axis stage customized to a stand type.

BE. ATV REBEROMEN AT —Y EEICRADERDNHA S EVEIBIEZAT - TEICRF T THIET.
L DIRETREZICL TRVWEREIR. AT —YADNXMEVZHREICETIDDPB72H. BEAICEOTAT—IDTF

DRIHEDPHIVEY (ARE) . COREEY A ORINABUTHIBEDEEICE O THELZON. ZEFRAT—ITY (ARA).

Typically, to suppress any influence from the stage top face, the feed mechanism is mounted on the base of stage. If the

stand type is used with this mounting configuration, a load is applied along the spring extension of the stage and the
LA stage may drop due to gravity (as shown in the left part in the right figure). Bracket type vertical linear stage may solve FINAEEEL RIAZEEH)
Rotation this problem by changing the position of micrometer holder.(see the right part in the right figure). No holder change holder change
ZAN)L
(I=#)
Swivel
(Tilt)

XMO7A-S1 XMO7A-S1-R XMO7A-S1Z

ZH#ERF  Standard WEFE  Mirror Symmetry Z{EH$4Z%  Standard Vertical Orientation

[ElEA

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

71 XMO7A-S1Z-R XMO7A-C 1 XMO7A-C1-R
RF—Y ZAAERRHEREF  Mirror Symmetry Vertical Orientation REMPBF  Standard HF  Mirror Symmetry
XYo

Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
g—3>y

Applica- XMO7A-C1Z XMO7A-C1Z-R

tion . .
Z{LHRAE#E  Standard Vertical Orientation ZAEFR¥EEEE  Mirror Symmetry Vertical Orientation
e
RSN
Motor
Driver

'T—9—
=
Motor
Cable

g%
Appendix

[©®
o
o
o
o
o
o
o
o
[ ©

@ |
o
o
o
o
o
o
o
o
@ ]

D-004 ‘ CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



EXA

Industrial
OXY#HSF—E XY Stage Assembly Configurations
BROBAIT-DBINENET, oy
mental

Assembly model has -*** at the end of model number.
FENEE
27—
) -NNR
TahiRsE LEmRE 1REERERS T T aiREE LEhizRE WA T

standard lower standard upper standard assemble standard lower standard upper reversed assemble

[ElEn

Rotation

AANIL
(I==)
Swivel
(Tilt)

TEIRE  FEMEEHF REERT TR EESEF SHERSTF 5

standard lower  mirror upper  standard assemble standard lower  mirror upper  reversed assemble

[Elk

Rotation

ZAR)L
(I==)
Swivel
(Tilt)
7354
XUk
2F—Y
XY6

N NR
T~ — 1 =~ oo
THRBTE eI EEERT THREBE  aEE  RERT o

mirror lower standard upper standard assemble mirror lower standard upper reversed assemble Controller

RSA4N
Ry IR
Driver
Box

77U
g—3>v
Applica-
tion

tT—9—
[NE A
Motor
Driver

T—9—
=7
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-005



FIHX XYRTF=DHAE R

Understanding Manual X, XY Linear Stage

EXH

Industrial

"RRN -RRR
mental T T~ T T~
TEhRsF  EEYBF  REERT

mirror lower

=L
Rotation

AANIL
(I==)
Swivel
(Tilt)

[ElEA

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

7354
XU
27—
XYé

'-5-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
g—3>y
Applica-
tion
ET—9—
RS4N
Motor
Driver

'T—9—
T—=2
Motor
Cable

g%
Appendix

D-006

[l

TEIRE

standard lower standard upper standard assemble

mirror upper

N
N

LEhREE

i

/Z

)
1

m
| F——

/
LEhiREE

mirror lower standard upper standard assemble

TR

N
T

il

N
S

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181

standard assemble

REERRRSF

standard lower

mirror upper

TEEEF  EEMEEF  SERTF

mirror lower

reversed assemble

=i

©

[

©)

©

e

©

TEIRE  LEYBFE  SHEETF

mirror upper

reversed assemble

W©W

-RRR
T T

RAERERS T

mirror lower

i
J

o=
=)

TEREFE  EWOEF  SHEBTF

mirror upper

reversed assemble

©/0) @ 00

[E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



-NZN -NZR -NZRN
T T TN
THIRE FRMZASARE RERRTF TEiRE  FEZEERE  HHERTF TEIRE ERMZASyBT RERRTF

standard lower Z standard upper standard assemble  standard lower Z standard upper reversed assemble  standard lower Z mirror upper  standard assemble

-NZRR -RZN -RZR
T T T T T
THIRE LMZHREBT SERT THEBT HZERRE T THEBT HZEREE AT

standard lower Z mirror upper reversed assemble mirror lower Z standard upper standard assemble mirror lower Z standard upper reversed assemble

EXA

Industrial

RERA
Experi-
mental

o
27—

[ElEn

Rotation

AANIL
(I==)
Swivel
(Tilt)

-RZRN -RZRR -ZNN
T T T

TEHEBF EZEsBT RERRT TEEBF EZEsBT BT TEhZ{ARIREE LR REEETF

mirror lower  Z mirror upper  standard assemble mirror lower Z mirror upper reversed assemble Z standard lower standard upper standard assemble

NR -ZRN -ZRR
— T — T — T

THZARRE  EiRE  SHEBF THZARRE  FWPEBF  REERT THZARRE  FEPEBF  SHEBTF

Z standard lower standard upper reversed assemble  Z standard lower  mirror upper  standard assemble  Z standard lower  mirror upper  reversed assemble

O

- 1M
O —Y |

Tl O —Y|

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

7354
XY
25—
XYeé

'-5-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
g—3>v
Applica-
tion

tT—9—
[NE A
Motor
Driver

T—9—
=7
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp ‘ D-007



R EEEEESEEEEEEESSSIIE=ESSSSSSS
FE8X - XYRTF=OHLEV R

Understanding Manual X, XY Linear Stage

mental -ZRNN -ZRNR -ZRRN
RS — T — T

THZAREEF  LMRE REEBTF THMZAREEF LR HHERF THZEFEEF  EMOERTF REERTF

Z mirror lower standard upper standard assemble Z mirror lower standard upper reversed assemble Z mirror lower mirror upper standard assemble

=L
Rotation

AANIL
(I==)
Swivel
(Tilt)

-ZRRR -Z -ZZR

ZN
— T . T T T T
THZARSEF  EEEEF  SERTF TEZRRE FEZ(RRE  IREEBT THMZARRE EWMZERRE SHEBF

Z mirror lower mirror upper reversed assemble  Z standard lower Z standard upper standard assemble  Z standard lower Z standard upper reversed assemble

©

[ElEA

Rotation

ZAARN)

(a=#)

Swivel

(Tilt)

7?4

o2y -ZZRN -ZZRR -ZRZN

XY6 T T T T T ™
TENZERRIZEE EEZER00RTFE SRR TEHZERRIZEE 820 TF WERFE TEZAENESE EEZARIZE  ZEEBTF

Z standard lower  Z mirror upper  standard assemble  Z standard lower  Z mirror upper  reversed assemble Z mirror lower Z standard upper standard assemble

'-5-
Jvho-35
Motor
Controller
RSA4N
Ry IR
Driver

Box

77U

g—3>y

A_pplica—

tion -ZRZR -ZRZRN -ZRZRR

T_9— — T P N P N

il THZAHREETF EEMZARRE WHEETF TEZAHERTF EMZASEETF REERT  THZERYETF LoZrsT SlEBTF

'\D"rci’vtg: Z mirror lower Z standard upper reversed assemble Z mirror lower  Z mirror upper  standard assemble Z mirror lower  Z mirror upper  reversed assemble
tT-5—
=
Motor
Cable

g%
Appendix

D-008 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



-RZRN
T
TEYEF EEZEREBF SEEBTF

mirror lower  Z mirror upper  standard assemble

-RZR
T
TEEBF FEZRRE SERT

o [}
o o
o o

-NZRN
T
TEmRHE FEZRRERT IRERSTF

standard lower Z mirror upper  standard assemble

-NZR
T
TERE FEZ(REBT BT

standard lower Z mirror upper

TEhZ{IHRAREE LR REEBTF  TEMZERERTF

Z standard lower standard upper standard assemble

LR

THZARRE  EEYEBT

Z standard lower mirror upper

REERF THZAREBTF BT

mirror upper

standard assemble Z mirror lower
—

TEhZ{TRRIREE

mirror lower Z standard upper reversed assemble

//JU

-ZN
T
FEiRE BHERBTF

Z standard lower standard upper reversed assemble

ann

TEZRRE  LEYBFE SHEETF

reversed assemble

REMBF  THZASEETF

Z mirror lower standard upper standard assemble

standard assemble

Z standard lower  mirror upper  reversed assemble

-ZRNR
Z T~
LR WHARF

Z mirror lower standard upper reversed assemble

RERF  THZAREBTF  EEBTF  SEBT

mirror upper

Z mirror lower reversed assemble

EXA

Industrial

RERA
Experi-
mental

o
27—

[ElEn

Rotation

AANIL
(I==)
Swivel
(Tilt)

Y YRODETHEICDWLT  About the shaft length of counterbore

HEOTHETRAT—IRY M OBRICANS )

Y ROE %%, [Shaft Length ** mm] & ‘JL“*%

®2LET (BN, 5. 1
4-for M3 screws

PIURDESERX D EZR T 2HREI0
KPR WEPETHEERYET (AR, H). Shaft Lentgh 3mm

Y

A ‘
4-for M3 screws i

The length of counterbore’s shaft for mounting is described “Shaft Length ** mm” (Top figure, left) in catalog drawing.

If counterbore does not exist on mounting part, depth size of base will be shaft length size (Top figure, right).

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

7354
XY
25—
XYeé

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
g—3>v
Applica-
tion
tT—9—
[NE A
Motor
Driver

T—9—
=7
Motor
Cable

1153
Appendix

D-009



| FEX-XYRT=D / T=TIY14X 30%x30,40%x40

System
Manual X,XY Linear Stages / Table Size 30X 30, 40x40

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

GXMO03S-S1 GXM04S-S1

GYMO3S-S1 GYMO04S-S1

[ElEn

Rotation

@ GXMO03s-s1 @ GYMO03s-s1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage
X-XY ]
XeXY 8-M2 Depth 3mm R

T

30 (15) 30

24 . 24

13 ™ Clamp®6 13
~ 8M2 Depth 3mm |

R4

] ITe} !
3 & = -
= R
z - ! B =
z
16.7 ®4H7 Depth 3mm %

[EEH Micrometer Head Micrometer Head
Rotation

Clamp®6 12 12

(7.3)

®4H7 Depth 3mm
ﬁ‘

T
13
24
30

13
24
30

Sz

31.7)

(15)

(

|(15)|

®

©
Bronzy.

24NV 4-for M2 screws ;
(I=%) Shaft Length 1.9mm ‘

Swivel el []24 4-for M2 screws
(Tilt) Shaft Length 1.9mm
7354
XU~
27—
XY6

e

Bz
AF=
Vacuum
Stage

Wi @ 6XMo4ds-s1 @ GYMo4s-s1
Electron—
ics

£-9-
avko-5 40 (20) gg

Motor 30

Controller 24 24
[N PAY 4-M3 Depth 4mm ‘ ‘
Ry IR
Driver ®4H7 Depth 4mm
Box ~

77U 4-M2 Depth 3mm
TF—ay )
Applica-
tion H o _ . ]
= = )

—5— P
-5 [ AL 1 L

RS\ = —t
Motor (26.5) |
Driver (70.5) 4-M2 Depth 3mm $4H7 Depth 4mm

T-9—

T—=2 Micrometer Head
Motor

Cable ©
©
—

[hE>3 Giid LS 00 =

- (L) (LI
gpecict 4for M3 screws | 30 T =)

Shaft Length 2.5mm 30 Afor M3 screws
7ot Shaft Length 2.5mm
)=

Accesso-

ries

Clamp®8

(9.3)

(9.3)

4-M3 Depth 4mm

(24)

24
30
40

24
30
40

u‘w'\ -t

(46.5)

Micrometer Head

RE
VAT I
Inspection
System

D-010 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



SUS/ Yy 97=9 /3404 =4%41 AL 1< [

SUS Body / Gothic-Arc / Side-Mount Micrometer

EXHA
Industrial
BR
M GXMO3S-S1 GYMO3S-S1 GXMO04S-S1 GYMO04S-S1
odel Number -
BB o
i S BLEIR GXMO3S-S1-R GYMO3S-S1-RRR GXMO4S-S1-R GYMO4S-S1-RRR Expert-
irror Model Number mental
F—7)E
Table Size 30mmX30mm 40mmX40mm TR
EV IS vo7—4 AT—
Guide Mechanism Gothic Arc Manual
B o
Motion Range +3.25mm +6.5mm
HEE
Straightness =1um/6.5mm =1um/13mm
B/NGFAHEL) 10um/BEE%
Minimum Readout 10pm/div
E—XUMITE
Moment Load Stiffness 0.51 arcsec/N-cm 1.02 arcsec/N-cm 0.31 arcsec/N-cm 0.61 arcsec/N-cm
IKIETRE %5
Load Capacity (Horizontal) 19.6N (2kgf) 49N (5kgf) Rotation
Mﬁﬁ_ SUS440C
aterial 24~
S8 HNEALIBEL (I=#)
Finish Nothing Swivel
A= (Tilt)
Weight 0.1kg 0.2kg 0.23kg 0.46kg
BEXE _ = _ =
Rerfae iy =20um/6.5mm =20um/13mm
ERBI A YA 7AX—&AYK (6.5mm) RATOX—ZAYR (13mm)
Actuator Micrometer (6.5mm) Micrometer (13mm) >>((>>((YY
o ¥19,000 ¥38,000 ¥19,000 ¥38,000
rice(JPY)
I =2 ) AR E Z
Clean Room Lubricant Change Price : ¥3,000 ¥6,000 ¥3.000 ¥6,000 z
B22J AR E
Vacuum Lubricant Change Price ~
s BFEL. BROMEBFICOVTIED-004N—YEBRLTTFEL, =20 ) AEHROBRIFKREIC -C” PEZET. FMRICDOVTIE Ejﬁtion
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003RX—=T&BBLTTEN, ¥4 7OX—ZOHJIGLTHEUET (K
Configuration. . EET ) =2 T ) AHISEH) .
5 XAF—SBHEOE—X Y MIEFO—ILBEE LY £T, %3 Clean room lubricant model has “-C” at the end of model number. Page C-003 .
%2 Moment Stiffness of single X stage is measured in Roll Direction. for _further informat.ion. Only Micrometer part can c_hange the clean room ?j’r—/\;_t}-l)l
lubricant (Body part is already used the clean room lubricant). 8 '_I
wive!
wa BETVASHIELTEYE LA, (Tilt)
: Vacuum lubricant exchange is not available. _
7354
HEE Z Z{L#% Vertical X linear stage customizing XUb
REEATS7 Y MERVBZET, XAF—IEZAT—VELTHRTAZENTRTT. £ L. FTHEOLDIEAT —VEZHRICT SLEABYET (RINTH | 32~
SELUET), ZHEBEADBEEIC DN TIFD-004N—2 DIBFROMHETIE TS0, BESA TOMBZZAT—IICDVWTIRE-016RX—J &2 ZB T &0,
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.
o BEHRDZELZICKYBROYES A T, T IICDOVTIFO-00IRN—=U7 BB L TREL,
FLIFEEBETHROADETE, Refer to page 0-001 for information on accessory.
We appreciate the product customizing. Contact us for further information.
tT-5—-
JvhO-3
Motor
Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
57
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-011



| X XYRF—P / F=TIY4L X 50%x50, 70X70

System
Manual X,XY Linear Stages / Table Size 50x50, 70x70

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

GXMOS5S-S1 GXMO7S-S1

GYMOS5S-S1 GYMO7S-S1

[ElEn

Rotation

@ GXMO05S-s1 @ GYMO05S-S1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

o
X XY M|
XeXY

50 (20) 50

40 40
Clamp®8 8-M3 Depth 4mm 30

(9.3)
(9.3)

8-M3 Depth 4mm
®4AH7 Depth 4mm

0
50

30
40
50

(71.5)

20)

P4H7 Depth 4mm

[ElEA

Rotation Micrometer Head Micrometer Head

24 R)L 4-for M3 screws
(T=#) Shaft Length 2.5mm i
Swivel 4-for M3 screws
(Tilt) [ 140

Shaft Length 2.5mm
734
P2
Ze—)
XY6

Bz
AF=
Vacuum
Stage

W @ 6XMoT7s-s1 @ GYMO7s-s1
Electron—
ics

tT5—-

k-5 gg 20) 70
Motor .60 |
Controller 50

[N PAY
Ry IR l
Driver ®4H7 Depth 5mm
Box -
77U 8M4 Depth 4mm_
J—vav
Applica-
tion
ET—9—
RSN\
Motor
Driver

Clamp®g 18 18

(9.3)

8-M4 Depth 4mm

o
o
(9.3)

50
60
0

== Micrometer Head i

T—=2 Micrometer Head
Motor g | 0
Cable o

153 4-for M4 screws [J60 @"

i Shaft Length 2.5mm !
Appendix gt 160 4-for M4 screws

Shaft Length 2.5mm

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-012 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
SUS/ Yy 97=9 /3404 =4%41 AL 1< [

SUS Body / Gothic-Arc / Side-Mount Micrometer

EXHA
Industrial
BR
M GXMO5S-S1 GYMO5S-S1 GXMO7S-S1 GYMO7S-S1
odel Number -
BB o
i S BLEIR GXMO5S-S1-R GYMO5S-S1-RRR GXMO7S-S1-R GYMO7S-S1-RRR Expert-
irror Model Number mental
F—JIE
Table Size 50mmXx50mm 70mmX70mm TR
EV dovo7—2 AT—
Guide Mechanism Gothic Arc Manual
BEGE Stage
Motion Range +6.5mm
HEE
Straightness =1um/13mm
B/NGFAHEL) 10um/BEE%
Minimum Readout 10pm/div
E—XUMITE
Moment Load Stiffness 0.2 arcsec/N-cm 0.41 arcsec/N-cm 0.05 arcsec/N-cm 0.1 arcsec/N-cm
IKIETRIE %5
Load Capacity (Horizontal) 78.4N (8kef) 117.6N (12kef) Rotation
Nicie SUS440C
aterial 24~
s HNESLIBEL (I=#)
Finish Nothing Swivel
A= (Tilt)
Weight 0.31kg 0.62kg 0.57kg 1.14kg
BEXE < _ <
Rerfaen iy =20um/13mm =20um/13mm
ERBI A YA7AX—8AYK (13mm)
Actuator Micrometer (13mm) >>((>>((YY
o ¥20,000 ¥40,000 %26,000 ¥52,000
rice(JPY)
I =2 ) AR E Z
Clean Room Lubricant Change Price : ¥3,000 ¥6,000 ¥3.000 ¥6,000 z
B22J AR E
Vacuum Lubricant Change Price ~
s BFEL. BROMEBFICOVTIED-004N—YEBRLTTFEL, =20 ) AEHROBRIFKREIC -C” PEZET. FMRICDOVTIE Ejﬁtion
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003RX—=T&BBLTTEN, ¥4 7OX—ZOHJIGLTHEUET (K
Configuration. . EET ) =2 T ) AHISEH) .
5 XAF—SBHEOE—X Y MIEFO—ILBEE LY £T, %3 Clean room lubricant model has “-C” at the end of model number. Page C-003 .
%2 Moment Stiffness of single X stage is measured in Roll Direction. for _further informat.ion. Only Micrometer part can c_hange the clean room ?j’r—/\;_t}-l)l
lubricant (Body part is already used the clean room lubricant). 8 '_I
wive!
wa BETVASHIELTEYE LA, (Tilt)
: Vacuum lubricant exchange is not available. _
7354
HEE Z Z{L#% Vertical X linear stage customizing XY

WBZRAT7Z7 Y NeRWSZET. XAT—YHZAT—JELTHIATRDZENTRETY . /20, BTBLEDAEDICAT—2ZZERICTIBEDSHY £ GRETH %/;' 7
SELUET), ZHEBEADBEEIC DN TIFD-004N—2 DIBFROMHETIE TS0, BESA TOMBZZAT—IICDVWTIRE-016RX—J &2 ZB T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page

D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

o PERODZEZLICKYHRBOBEL A ET . 7Y IIZDNTIFEO-001X—=U BB LTTE,
FLIFEEBETHROADETE, Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information.

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-013



PN
up=l
oo
System

Products

E%R

Industrial

FEX - XYRT—D / 7= WYL X 30%X30, 40%X40

Manual X,XY Linear Stages / Table Size 30x30, 40x40

RERA
Experi-

Manual
Stage

GXMO03S-C1 GXM04S-C1

GYMO3S-C1 GYMO04S-C1

[ElEn

Rotation

@ GXM03s-C1 @ GYMo3s-C1

AAN)L
(I=#)
Swivel
(Tilt)
BEEE
ATF—=Y
Motorized
Stage
X-XY 4o | ¢
X+ XY -
30 (41)

24 30

3.3) 1212
13 ig Clampos =)

8-M2 Depth 3mm
$4H7 Depth 3mm

s e
°s e

(7.3)

8-M2 Depth 3mm
$4H7 Depth 3mm

(7.3)

30
24
13

30
24
13

(41)

Micrometer Head
[EEH

. N 7
Rotation -~ i — 2

4-for M2 screws (124
Q Shaft Length 1.9mm

é}f—’\;)' ¢ 4-for M2 screws
Swivel Shaft Length 1.9mm
(Tilt)
754
Xk
2F—Y
XY6

Bz
AF=
Vacuum
Stage

fﬂjﬂfﬁ @ GXmo4s-c1 @ GYMo4s-Cc1
Electron-
ics

==

- 30 40
avho—-3 (5.3) 16 16
Motor 24 Clamp®8 30 Clamp®8
Controller h i 24 [

RSN ) 4-M2 Depth 3mm
Ry IR
Driver
Box

77U

HES
fe}._P4HT Depth 4 5102
LESEY, epth 4mm ]
Applica- 40 (58.5) (21.3) |

©
tion 4-M2 Depth 3mm fJ-F
Ee5— 4-M3 Depth 4mm  \P4H7 Depth 4mm
RSA4N

Mqtor
Driver Micrometer Head
o ==y S |

T—=2 =
Motor 8 J Aﬂ:
Cable G et

4-for M3 screws 30

[N}
Appendix Shaft Length 2.5mm

(9.3)

(9.3)

4-M3 Depth 4mm

40
30
24

24

4
30

)
e e

(58.5)

Micrometer Head

13.5

4-for M3 screws []30
Shaft Length 2.5mm

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-014 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



SUS/dYvy7=4/34/0r=4tv2-H1 1< [

SUS Body / Gothic-Arc / Center-Mount Micrometer

EXHA
Industrial
BR
M GXMO03S-C1 GYMO3S-C1 GXMO04S-C1 GYMO04S-C1
odel Number -
BB o
i S BLEIR GXMO3S-C1-R GYMO3S-C1-RRR GXMO4S-C1-R GYMO4S-C1-RRR Expert-
irror Model Number mental
F—7)VE
Table Size 30mmX30mm 40mmX40mm TR
ESVE IS vo7—4 AT—
Guide Mechanism Gothic Arc g"tzgéa‘
ey
Motion Range +3.25mm +6.5mm
HEE
Straightness =1um/6.5mm =1um/13mm
B/NGFAHEL) 10um/B%%
Minimum Readout 10pm/div
E—XUMITE
Moment Load Stiffness 0.51 arcsec/N-cm 1.02 arcsec/N-cm 0.31 arcsec/N-cm 0.61 arcsec/N-cm
KEHE m%
Load Capacity (Horizontal) 19.6N (2kgf) 49N (5kgf) Rotation
M’Hﬁ_ SUS440C
aterial 24~
S8 HNESLIBEL (I=#)
Finish Nothing Swivel
A= (Tilt)
Weight 0.1kg 0.2kg 0.23kg 0.46kg
BEXE _ = _ =
Rerfae iy =20um/6.5mm =20um/13mm
ERBI A RATOX—BZAYR (6.5mm) RATOX—ZAYR (13mm)
Actuator Micrometer (6.5mm) Micrometer (13mm) >>((>>((YY
o ¥19,000 ¥38,000 ¥19,000 ¥38,000
rice(JPY)
I =2 G AR E Z
Clean Room Lubricant Change Price : ¥3,000 ¥6,000 ¥3.000 ¥6,000 z
B22J ARG E
Vacuum Lubricant Change Price ~
s BFEL. BROMEBFICOVTIED-004N—YZBRLTTFEL, =20 ) AEROBKRIFKREIC -C” PEEZET. FMRICDOVTIE Ejﬁtion
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003X—=2ABRBLTTEW., Y1 7OX—2DHMIGLTHYET (K
Configuration. L R )= T AMISER) .
. XAF—SBEDE—X Y MNIFBERO—LBIMEERYET, *#3  Clean room lubricant model has “-C” at the end of model number. Page C-003 .
%2 Moment Stiffness of single X stage is measured in Roll Direction. for _further informat.ion. Only Micrometer part can c_hange the clean room ?j’r—/\;_t}-l)l
lubricant (Body part is already used the clean room lubricant). 8 '_I
" wive!
%4 HZEJYRAHELTHEUEEA. (Tilt)
: Vacuum lubricant exchange is not available. 754
73
HEE Z Z{L#% Vertical X linear stage customizing XUb
WBZRAT7Z7 Y NeRWSZET. XAT—YHZAT—JELTHIATRDZENTRETY . /20, BTBLEDAEDICAT—2ZZERICTIBEDSHY £ GRETH %/;-_J
SELUET), ZHEBEADBEEIC DN TIFD-004N—2 DIBFROMHETIE TS0, BESA TOMBZZAT—IICDVWTIRE-016RX—J &2 ZB T &0,
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.
o BEHRDZELZICKYBROYES A T, T IICDOVTIFO-00IRN—=U7 BB L TREL,
FLIFEEBETHROADETE, Refer to page 0-001 for information on accessory.
We appreciate the product customizing. Contact us for further information.
tT-5—-
JvhO-3
Motor
Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-015



| X XYRF—P / F=TIY4L X 50%x50, 70X70

System
Manual X, XY Linear Stages / Table Size 50x50, 70X70

Products

E%R

Industrial

RERA
Experi-

Manual

Stage GXMO5S-C1 GXMO7S-C1

GYMOS5S-C1 GYMO7S-C1

[ElEn

Rotation

@ GXMO05S-C1 @ GYMO5s-C1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage
X-XY
XeXY +

50 (58.5)

40 50

40 Clamp®8
30

(5.3) 16 16

(9.3)

8-M3 Depth 4mm
$4H7 Depth 4mm
ShallB LIS

(9.3)

8-M3 Depth 4mm
$4H7 Depth 4mm T

50
40
30

50
40
30

e
&
i

(58.5)

[ElEA

) Micrometer Head
Rotation

© { |

- I T

i(:?f:,\;{l)' 4-for M3 screws 140

Shaft Length 2.5mm

Micrometer Head

13.5

Swivel
(Tilt)

754
PN
25—
XYe

4-for M3 screws
Shaft Length 2.5mm

Bz
AF=
Vacuum
Stage

HlEEE @ GXMo7s-Cc1 @ GYMO7s-C1

Control
Electron-
ics

== 60 70

avhk0-5
50 Cl P8 60 4.3
Motor amp = Clamp®8 (4.3) 18 18

Controller 8-M4 Depth 4mm
m " 8M4 Depth 4mm-

RSA4N
®4H7 Depth 5mm

(9.3)

(9.3)

Ry IR $4H7 Depth 5mm
Driver
Box

77U
J—vav &
Applica-
tion

ET—9—
RSN\
Motor
Driver

60
50

70

7
60
50

70 (58.5)

(58.5)

F—9— Micrometer Head
T—=2
Motor 00 ]
Cable -

(hE- 4-for M4 screws [Jeo
Appendix Shaft Length 2.5mm

Micrometer Head

14.5
i

4-for M4 screws 0
Shaft Length 2.5mm 60

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-016 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



- _______________________________________________________________________________
SUS/dYvy7=4/34/0r=4tv2-H1 1< [

SUS Body / Gothic-Arc / Center-Mount Micrometer

EXA
Industrial
BR
M GXMO05S-C1 GYMO5S-C1 GXMO7S-C1 GYMO7S-C1
odel Number -
BB o
i S BLEIR GXMO5S-C1-R GYMO5S-C1-RRR GXMO7S-C1-R GYMO7S-C1-RRR Expert-
irror Model Number mental
F—7)VE
Table Size 50mmXx50mm 70mmX70mm TR
ESVE IS vo7—4 AT—
Guide Mechanism Gothic Arc g"tzgéa‘
ey
Motion Range +6.5mm
HEE
Straightness =1um/13mm
B/NGFAHEL) 10um/B%%
Minimum Readout 10pm/div
E—XUMITE
Moment Load Stiffness 0.2 arcsec/N-cm 0.41 arcsec/N-cm 0.05 arcsec/N-cm 0.1 arcsec/N-cm
IKIETRE %5
Load Capacity (Horizontal) 78.4N (8kef) 117.6N (12ksf) Rotation
Mﬁﬁ_ SUS440C
aterial 24~
s HNEALIBEEL (I=#)
Finish Nothing Swivel
A= (Tilt)
Weight 0.31kg 0.62kg 0.57kg 1.14kg
BEXE _ = _ =
Rerfaen iy =20um/13mm =20um/13mm
ERBI A RATOX—BZAYK (13mm)
Actuator Micrometer (13mm) >>((>>((YY
o ¥20,000 ¥40,000 %26,000 ¥52,000
rice(JPY)
I =2 G AR E Z
Clean Room Lubricant Change Price : ¥3,000 ¥6,000 ¥3.000 ¥6,000 z
B22J ARG E
Vacuum Lubricant Change Price ~
s BFEL. BROMEBFICOVTIED-004N—YZBRLTTFEL, =20 ) AEROBKRIFKREIC -C” PEEZET. FMRICDOVTIE Ejﬁtion
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003X—=2ABRBLTTEW., Y1 7OX—2DHMIGLTHYET (K
Configuration. L R )= T AMISER) .
%2 XAF—SBEDE—X Y MNIFBERO—LBIMEERYET, #3  Clean room AlubricantAmodeI has C at the end of model number. Page C-003 =
X Moment Stiffness of single X stage is measured in Roll Direction. for _further |nf0rmat.|0n. Only Micrometer part can c_hange the clean room a=)
lubricant (Body part is already used the clean room lubricant). 8 '_I
wive!
%4 HZEJYRAHELTHEUEEA. (Tilt)
: Vacuum lubricant exchange is not available. 754
73
HEE Z Z{L#% Vertical X linear stage customizing XY

WBZRAT7Z7 Y NeRWSZET. XAT—YHZAT—JELTHIATRDZENTRETY . /20, BTBLEDAEDICAT—2ZZERICTIBEDSHY £ GRETH %/;' 7
SELUET), ZHEBEADBEEIC DN TIFD-004N—2 DIBFROMHETIE TS0, BESA TOMBZZAT—IICDVWTIRE-016RX—J &2 ZB T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page

D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

o PERODZEZLICKYHRBOBEL A ET . 7Y IIZDNTIFEO-001X—=U BB LTTE,
FLIFEEBETHROADETE, Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information.

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-017



R EEEEESEEEEEEESSSIIE=ESSSSSSS
FHX - XYAT—2 / T7—TIWHY AL X 40%X40, 50%x50

Manual X, XY Linear Stages / Table Size 40%X40, 50x50

EXA

Industrial

RERA
Experi-
mental

Manual
Stage

| XMO5A-S1_| XMO5A-S3-CL

YMO4A-S1 YMOS5A-S1 YMOS5A-S3-CL
[EE
Rotation
@ XMO04A-s1 @ YMO4A-s1
40 (14.5) 40
24N 30 Clamp®10 30 15 15
i Clamp®10
(T=) 13 13
Swivel : = 5-M3 Depth 4mm | -
(Tilt) 3 T =
IR — 4-M2 Depth 4mm - % - 5] ]
- %] L o 5 l LLE[O ° s
5-M3 Depth 4mm { ¢ |+ i3 /, +—H el 2
 1® ¢ e ¢ 1
= T T
X-XY 5 =
X XY (9.25) < 4-M2 Depth 4mm <
(53) = hul
7 Micrometer Head _ Micrometer Head
Z [te) o
B S i 11
4-for M3 screws
[ELA Shaft Length 2.5mm 130 4-for M3 screws
Rotation Shaft Length 2.5mm
@ XMO5A-S1 @ YMO5A-s1
24N 28 Clamp®15 (14.7) i(o) Clamp®15
éﬂi\;? : 30 o) 30 s 20_20
(Tilt) A3 g 13, g
[ 9-M3 Depth 6mm |
754 28| M3 Depth 6mm | _ | ) (R
PN 4-M2 Depth 6mm_f& [ 2 1 5
AF— - 2‘85’“0 . 14 sldels
G 9-M3 Depth 6mm ¢ , *[* | 0 #
[ ¢ 17% @
S M i =
(59) ~ s
s 3
Micrometer Head Micrometer Head
g
N
E;ia—ﬁ 4-for M3 screws |
Shaft Length mm4
Motor et 40 4for M3 screws
Controller Shaft Length 4mm
RS54\
E')R_‘y I2 @ XMO05A-S3-CL @ YMO5A-S3-CL
river
Box 50 Clamp®15 50 Clamp®15
Z?’U ‘3‘8 & gg 3| @5\ 20 20
—vay ; 9M3 Depth 6mm © ‘
Applica- A3 g Vs Depth bmm A3 =
tion I 5
:E\:SI—“ 4-M2 Depth 6mm {H T -
RSAN I~ Hololo
Motor 9-M3 Depth 6mm ¥ H;ﬁlm <10 =T g
Driver (¢ o o 5 B I C
4 4 H o) L
E—5— = PN
T—=2 & T
Motor
Cable 1) (95) 11.5 4-M2 Depth 6mm
153 (29.5) (95)
Append Micrometer Head FPPO3-13 Micrometer Head FPP03-13
I iGN i T
Q 0}
- i ot
4-for M3 screws R
Shaft Length 4mm L140 s 7 E@r{, E

T []40 | \_4for M3 screws
Shaft Length 4mm

D-018 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I3/ 90AO-FH1 K | 24 705-544 AL gz 6 ) D)

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

R XMO4A-S1 YMO4A-S1 XMO5A-S1 YMOS5A-S1 XMO5A-S3-CL YMO5A-S3-CL
Model Number
’ BFREOER X XMO4A-S1-R YMO4A-S1-RRR XMO5A-S1-R YMO5A-S1-RRR | XMO5A-S3-R-CL |[YMO5A-S3-RRR-CL|
Mirror Model Number
F—7I)VE
Table Size 40mmx40mm 50mmx50mm
ESpsk-o HBREI/OZAO—FH1/R
Guide Mechanism Cross-Roller Guide
BEhEEE #8E) 13mm, &) 0.3mm
Motion Range £3.25mm Coarse 13mm, Fine 0.3mm
HEE
Straightness =2um/6.5mm =1um/6.5mm =2um/13mm
B/ NaRAEL) 10um/B2& #HE) 10um/B8%, &) ~ 0.5um/B&&
Minimum Readout 10pm/div Coarse 10pum/div, Fine = 0.5pum/div
M %—X‘/I\ﬁi X 0.82 arcsec/N-cm|1.63 arcsec/N-cm|0.31 arcsec/N-cm|0.61 arcsec/N-cm|0.31 arcsec/N-cm |0.61 arcsec/N-cm
oment Load Stiffness
IKFMHETE
Load Capacity (Horizontal) 39.2N (4kef)
%=t TIVIAE
Material Aluminum Alloy
by Bt
Finish Clear-Matt Anodizing
BE
Weight 0.1kg 0.2kg 0.23kg 0.46kg 0.3kg 0.6kg
EXE S
Perpendicularity =20um/6.5mm =20um/6.5mm =20um/13mm
BREh AN YATOX—ZAYK(6.5mm) ¥EEART > aF— FPP03-13(13mm)
Actuator Micrometer (6.5mm) Fine Pitch Positioner FPP0O3-13 (13mm)
o ¥35,000 ¥70,000 ¥40,000 ¥80,000 ¥76,000 ¥152,000
rice(JPY)
F—N—K—IE - - - - - -
Overhaul Price %3 ¥15,000 ¥30,000 ¥15,000 ¥30,000 ¥15,000 ¥30,000
FU=STURARRR 5yl y12000 ¥24,000 ¥12,000 ¥24,000 ¥12,000 ¥24,000
Clean Room Lubricant Change Price
v R2IVAZER ¥12,000 ¥24,000 ¥12,000 ¥24,000 ¥12,000 ¥24,000
‘acuum Lubricant Change Price
BFED. EROMEBFICDONTIED-004AX—I BB L TTFEL, U= J) AMEROBKRIFKEIC -C” PEEZET. FMICDOVTI

%1

%2

%3

Refer to pageD-004 for Information on Standard and Mirror Symmetry

Configuration.

XAT—VBEOQE—X2 MIERO-BIEERYET,

Moment Stiffness of single X stage is measured in Roll Direction.
F=N—FR—VBICZBBHRREEENELA, FRICOVTRIER-D%
BRBLTTEN (XM 7O0X =AY REF—N—KR—ILHRHAERVET) .
Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul).

B X Z{T1k Vertical X linear stage customizing
WMEBZAT 7Y NeRWAIET. XAT—V%ZAT—VELTHRATBZENFIRETY ., 2720, ETHLEDEDICAT—JZZERICTIHVEDPHY £T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

BERDCERICKBRADLEL A ET .
FHUSEEERBETHEHVEDETEL.

We appreciate the product customizing. Contact us for further information.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

%4

%5

C-003X—=T BB L TTEL, S3-CL. S3-R-CL. S3-RRR-CLOYJJ A
ik, NMEOHERY ET,

Clean room lubricant model has “-C” at the end of model number. Page C-003
for further information. Lubricant change is not available for actuators on
stages that include the S3 model.

BZ2J D ZEHROBKRIEIREIC V" PMEFEET. FMICDTIZC-003N
—2aBBLTTEL, S3-CL. S3-R-CL. S3-RRR-CLD Y1) AZZH#alE.
AAEDHER)ET

Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
further information. Lubricant change is not available for actuators on stages
that include the S3 model.

T 7Y VDN TIZO-00IR—=ZBR L TTFEL,

Refer to page 0-001 for information on accessory.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

FEEE
25—
Manual
Stage

[ElEn

Rotation

AANIL
(I==)
Swivel
(Tilt)

XXY

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

D-019



N FEX-XYRT=D / T=TIHL4 X 50%x50

System
Products

EXHA

Industrial

Manual X, XY Linear Stages / Table Size 50%X50

RERA
Experi-

Manual

i XMO5A-C 1 RN XM05A-C3-CL

YMOSA-C1 YMOSA-C3-CL

[ElE
Rotation

@ XMO05A-C1 @ YMO5A-C1

AANIL
(@=) 50 0
Swivel 40 40 (1.5) 20 20
(Tilt)

Clamp®15
BENES |
25— 9-M3 Depth 6mm
Motorized {I =
Stage FS ¥ <

X XY + -+

XeXY
e | 4 ©
ot \ “y T §

z \ =
z 9-M3 Depth 6mm (42) (21.5) 4-M2 Depth 6mm
4-M2 Depth 6mm

Clamp®15

(16.5)
&

(16.5)
&

50
40
30
13
©
50
40
30
13
©

&
©
+
/¢*
<
©)
©
(®)
=i

(42)

[ElEA 3

Rotation Micrometer Head Micrometer Head

&

o 0
24N & = ©

(I=%) ‘ 1
Swivel 4-for M3 screws []40 @
(Tilt) Shaft Length 4mm His i

55|
©
©

754 4-for M3 screws J40
XK Shaft Length 4mm

AF=
XYe

B
27—
Vacuum

L @ XMO5A-C3-CL @ YMO5A-C3-CL

S
Control 50 50

Electron- 20 40 (14.5) 20 20
Clamp®15

ics 30 30
Clamp®15

(16.5)
&

(16.5)
&

tT5—-

JvhO-3
Motor |
Controller I 1

[N PAY <
Ry IR + 1.
Driver

Box N *\ + N L
77U A hd

T=v3v 9-M3 Depth 6mm | ‘
ﬁﬁﬁ“ca' 4-M2 Depth 6Bmm !

ET—9—
RSAN
Motor
Driver
E=/= ’
T Micrometer Head FPP03-13

Motor L

Cable _ 4

o =
8% «
Appendix

. 9-M3 Depth 6mm @\
1

bp
B A_Di o 5 10 s S

50
40
30
13
50

40
30
13
&

% — i | 7 % )o

-+

S
RS
/
$$
&
©

4-M2 Depth 6mm

(75.5)

\Micrometer Head FPP03-13

4-for M3 screws [J40
Shaft Length 4mm

7I€ 4-for M3 screws
HU— Shaft Length 4mm

Accesso-
ries

16.5

RE
JYART L
Inspection
System

D-020 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
PV 90AO=-754 K /94 y05=a€ 45— 1< [

Aluminum Body / Cross-Roller Guide / Center-Mount Micrometer

EXHA
Industrial
BR
M XMO5A-C1 YMO5A-C1 XMO5A-C3-CL YMO5A-C3-CL
odel Number -
SE(VEY o
Mi BFEOER X XMO5A-C1-R YMO5A-C1-RRR XMO5A-C3-R-CL YMO5A-C3-RRR-CL Experi-
irror Model Number mental
F—7)E
Table Size S0mm>S0mm e
ERHR KEEo/NA0—SH1K AT—Y
Guide Mechanism Cross-Roller Guide g"tzgéa‘
Mﬁﬁﬁiﬂ +3.95mm #8E) 13mm, 1‘7‘8@1 0.3mm
otion Range Coarse 13mm, Fine 0.3mm
HEE
Straightness =1um/6.5mm =2um/13mm
B/ NaRAEL) 10um/B&% #HE) 10um/B8%, 8 ~ 0.5um/B&&
Minimum Readout 10pm/div Coarse 10um/div, Fine = 0.5um/div
M %—X‘/I\ﬁi X 0.31 arcsec/N-cm 0.61 arcsec/N-cm 0.31 arcsec/N-cm 0.61 arcsec/N-cm
oment Load Stiffness
KERHE m%
Load Capacity (Horizontal) 39.2N (4kgf) Rotation
%=t TIVIES
Material Aluminum Alloy 24~
s BHe&ft kS (3=%)
Finish Clear-Matt Anodizing Swivel
A= (Tilt)
Weight 0.22kg 0.44kg 0.3kg 0.6kg
BEXE _ = _ =
Ry =20um/6.5mm =20um/13mm
BREH A YATAX—ZAYK(6.5mm) ¥EEARTaF— FPP03-13(13mm)
Actuator Micrometer (6.5mm) Fine Pitch Positioner FPP03-13 (13mm) >>((>>((YY
o ¥40,000 ¥80,000 ¥76,000 ¥152,000
rice(JPY)
F—N—K—IVE - - - - z
Overhaul Price %3 ¥15,000 ¥30,000 ¥15,000 ¥30,000 -
I =2 ) ARG E
Clean Room Lubricant Change Price ¥12,000 St ¥12,000 SZRERD
HESUAZHE Elis
Vacuum Lubricant Change Price 2 ¥12,000 ¥24,000 ¥12,000 ¥24,000 Rotation
s BFEL. BROMEBEFICOVTIED-004N—JZBRLTFEL, =20 ) AEHROBKRIFKREIC -C” PEEZET. FMICDOVTI
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003N—2 BB L TTFXL), C3-CL. C3-R-CL. C3-RRR-CLOJ U 24~
Configuration. L XBE. AMEOKZERYVET. (3=4)
. XAF—SBEDE—X > MIBEIRO—ILBIE Y ET, #4 Clean room lubricant model has “C” at the end of model number. Page C-003 Swiivall
%2 Moment Stiffness of single X stage is measured in Roll Direction. for further ipformation. Lubricant exchange is not available for actuators on (Tilt)
A=A LR RBEBAREEENECA, HHICOLTIR 161 % Siaes that nejude The o3 model. 754
w3 BELTFEL (7475)< YN Mi?}'—/%—ud'\—)l«ﬂ%%ttl) 7). RZEJ Y AMHEOBRIKREIC -V HHEET, %Hl:?b\fﬂi&OOS& Xk
: Additional parts cost is not included on Overhaul cost. Refer to page 16 for —V%%?ﬁk?{?éb\n C3-CL. C3-R-CL. C3-RRR-CLOY ) AT RTF—=Y
further information (Micrometer is not included in the overhaul). %5 AhDHE ‘_* JET, XY6
¢ Vacuum lubricant model has "-V” at the end of model number. Page C-003 for
further information. Lubricant exchange is not available for actuators on stages
that include the C3 model.
B X Z{T1k Vertical X linear stage customizing
WEZRAT7 S5y beRWAZET XAT—V%ZAT—VELTHRAT A ENAIRETY . /20, ETBLEDEDICAT D2 ZHRICTZBEDNHY T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.
BEFRDZELZICKYBROYEL A T, T IICDOVTIFO-00IR—=2 7B LU TREL, E;I’ia—i
FLKIFEERETEHVEDETEL, Refer to page 0-001 for information on accessory. Motor
We appreciate the product customizing. Contact us for further information. Controller
RS\
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
7=
Motor
Cable
8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-021



T | 28X - XYRF— / F=T WYL X TOXT0

System
Manual X, XY Linear Stages / Table Size 70X70

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

XMO7A-S1 XMO7A-S3-CL

YMO7A-S1 YMO7A-S3-CL
[ElEn

Rotation

@ XMO07A-S1 @ YMO7A-S1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X XY &

XeXY L jund
8-M3 Depth 5mm e

5-M4 Depth 5mm

70 (20) 70
60 60 Clamp®15

40 40 —~
Clamp®15

30 4 21,21

(16.5)
(16.5

5-M4 Depth 5mm

70

(84)

(20)

[ElEA

Rotation

Micrometer Head

ZAR)L
(I=#)
Swivel
(Tilt) 1
= 60 4-for M4 screws
;;’{ Shaft Length 2.5mm
ATF—Y
XYe

21

4-for M4 screws 160
Shaft Length 2.5mm

Bz
AF=
Vacuum
Stage

gl @ XMO7A-S3-CL @ YMO7A-S3-CL
Electron—
ics

tT5—-
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U M3 Depth Smm _
Tow2? ] 5M4 Depth smm

Applica-
tion

ET—9—
RSN\
Motor
Driver

E=/=
T—=2
Motor
Cable

-
8% o
Appendix

70 (28) 70
60 60
40 40 5
30 Clamp®15 30 Q

5-M4 Depth 5mm | ~

(85) 21 21

(16.5)

Clamp$15

=
Y

30
40
60

70

(101)
~ 40 |
I 60 1
70
Jomm— g —)

Micrometer Head FPP03-13 Micrometer Head FPP03-13

4-for M4 screws
Shaft Length 2.5mm 4-for M4 screws
7ot L 160 Shaft Length 2.5mm
)=

Accesso-

res

RE
VAT I
Inspection
System

D-022 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I3/ 90AO-FH1 K | 24 705-544 AL gz 6 ) D)

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

BR
Model Number

XMO7A-S1 YMO7A-S1 XMO7A-S3-CL YMO7A-S3-CL

BsFE VR

Mirror Model Number ~

XMO7A-S1-R YMO7A-S1-RRR

XMO7A-S3-R-CL

YMO7A-S3-RRR-CL

F—7)E
Table Size

70mmx70mm

ESAVEY

Guide Mechanism

BEHEI/OZAO—FHCK
Cross-Roller Guide

B EEE

Motion Range

#8E) 13mm, &) 0.3mm

+
£6.5mm Coarse 13mm, Fine 0.3mm

HEE
Straightness

=2um/13mm

BR/ANFAHEL)
Minimum Readout

#HE) 10um/B8%, 8 ~ 0.5um/B&&
Coarse 10um/div, Fine = 0.5um/div

10um/B&
10pm/div

E—XUMITE
Moment Load Stiffness ~

0.1 arcsec/N-cm 0.2 arcsec/N-cm 0.1 arcsec/N-cm 0.2 arcsec/N-cm

IKIETRE
Load Capacity (Horizontal)

58.8N (6ksf) 53.9N (5.5kgf) 58.8N (6ksf) 53.9N (5.5kgf)

HE

Material

TILIEE
Aluminum Alloy

s
Finish

Btk
Clear-Matt Anodizing

BE
Weight

0.43kg 0.86kg 0.47kg 0.93kg

BEXE

Perpendicularity

=20um/13mm — =20um/13mm

BREN

Actuator

¥EEARTaF— FPP03-13(13mm)
Fine Pitch Positioner FPPO3-13 (13mm)

RATOX—ZAYR (13mm)
Micrometer (13mm)

it
Price(JPY)

¥40,000 ¥80,000 ¥76,000 ¥152,000

F—N—K—IE
Overhaul Price S

¥15,000 ~ ¥30,000 ~ ¥15,000 ~ ¥30,000 ~

D=2 T ) ARGE

Clean Room Lubricant Change Price

¥12,000 ¥24,000 ¥12,000 ¥24,000

BEJ)ARIGE

Vacuum Lubricant Change Price ~

¥12,000 ¥24,000 ¥12,000 ¥24,000

EXA

Industrial

RERA
Experi-
mental

FEEE
25—
Manual
Stage

[ElEn

Rotation

AANIL
(I==)
Swivel
(Tilt)

%1

%2

BFE. BEROMEHFICDOVTIED-004X—2%BR L TTFEL,

Refer to pageD-004 for Information on Standard and Mirror Symmetry
Configuration.

XATF—VBEOQE—X Y MIERO-BIEERYET,

Moment Stiffness of single X stage is measured in Roll Direction.
F=N—FR—VBICZBBHRREEENELA, FRICOVTRIER-D%
%3 BRULTFEIV (XA 7AX=2AY REF—N—R—IHERA LRV ET)
Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul).

V=27 ) AHHFOBKIEKREIC -C" PHEET. FMICOVTIE
C-003X—o%BIRLTTFEL, S3-CL. S3-R-CL. S3-RRR-CLDOJJ A
KHald. KEDHER)ET

*4  Clean room lubricant model has “C” at the end of model number. Page C-003
for further information. Lubricant exchange is not available for actuators on
stages that include the S3 model.

BZ2J D ZEHROBKRIEIREIC V" PMEFEET. FMICDTIZC-003N
—2aBBLTTEL, S3-CL. S3-R-CL. S3-RRR-CLD Y1) AZZH#alE.
%5 AAEDHER)ET

Vacuum lubricant model has “-V” at the end of model number. Page C-003 for

further information. Lubricant exchange is not available for actuators on stages
that include the S3 model.

B X Z{T1k Vertical X linear stage customizing

WMEBZAT 7Y NeRWAIET. XAT—V%ZAT—VELTHRATBZENFIRETY ., 2720, ETHLEDEDICAT—JZZERICTIHVEDPHY £T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

BERDCERICKBRADLEL A ET .
FHUSEEERBETHEHVEDETEL.

T 7Y VDN TIZO-00IR—=ZBR L TTFEL,

Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

XXY

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

D-023



T | 28X - XYRF— / F=T WYL X TOXT0

System
Manual X, XY Linear Stages / Table Size 70X70

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

XMO7F-S1 XMO7F-S3-CL

YMO7F-S1 YMO7F-S3-CL
[ElEn

Rotation

@ XMO7F-S1 @ YMO7F-s1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X XY &

XeXY L jund
8-M3 Depth 5mm e

5-M4 Depth 5mm

70 (20) 70
60 60 Clamp®15

40 40 —~
Clamp®15

30 4 21,21

(16.5)
(16.5

5-M4 Depth 5mm

70

(84)

(20)

[ElEA

Rotation

Micrometer Head

ZAR)L
(I=#)
Swivel
(Tilt) 1
= 60 4-for M4 screws
;;’{ Shaft Length 2.5mm
ATF—Y
XYe

21

4-for M4 screws 160
Shaft Length 2.5mm

Bz
AF=
Vacuum
Stage

g“iﬂ"ﬁlﬁ @ XMO7F-S3-CL @ YMO7F-S3-CL
ontro

Electron-

ics

tT5—-
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U M3 Depth Smm _
Tow2? ] 5M4 Depth smm

Applica-
tion

ET—9—
RSN\
Motor
Driver

E=/=
T—=2
Motor
Cable

-
8% o
Appendix

70 (28) 70
60 60
40 40 5
30 Clamp®15 30 Q

5-M4 Depth 5mm | ~

(85) 21 21

(16.5)

Clamp$15

=
Y

30
40
60

70

(101)
~ 40 |
I 60 1
70
Jomm— g —)

Micrometer Head FPP03-13 Micrometer Head FPP03-13

4-for M4 screws
Shaft Length 2.5mm 4-for M4 screws
7ot L 160 Shaft Length 2.5mm
)=

Accesso-

res

RE
VAT I
Inspection
System

D-024 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
%/ 90A0=3H4 K/ 24 904=4%4 L 1< [

Steel Body / Cross-Roller Guide / Side-Mount Micrometer

EXHA
Industrial
BR
M XMO7F-S1 YMO7F-S1 XMO7F-S3-CL YMO7F-S3-CL
odel Number -
BB o
i S BLEIR XMO7F-S1-R YMO7F-S1-RRR XMO7F-S3-R-CL YMO7F-S3-RRR-CL Expert-
irror Model Number mental
F—7)E
Table Size 70mm>70mm e
ESVE KEEoNA0—SH1K AT—Y
Guide Mechanism Cross-Roller Guide g"tzgéa‘
ey ¥8E) 13mm, &) 0.3mm
Mot +6.5mm -
otion Range Coarse 13mm, Fine 0.3mm
HEE
Straightness S2um/13mm
BR/ANFAHEL) 10um/B &% ¥8®) 10um/BE%, ##) ~ 0.5um/BE%
Minimum Readout 10pm/div Coarse 10um/div, Fine = 0.5um/div
M %—X‘/I\ﬁi X 0.08 arcsec/N-cm 0.16 arcsec/N-cm 0.08 arcsec/N-cm 0.16 arcsec/N-cm
oment Load Stiffness
KERHE m%
Load Capacity (Horizontal) 117.6N (12kgf) 107.8N (1 1kgf) 117.6N (12kgf) 107.8N (1 1kef) Rotation
ur=t %
Material Steel 24~
S8R S b Xy B (I=#)
Finish Nickel Plating Swivel
A= (Tilt)
Weight 0.92kg 1.84kg 0.96kg 1.92kg
BEXE < S <
Ry =20um/13mm =20um/13mm
BREH A YAOX—ZAYR(13mm) ¥EEARTaF— FPP03-13(13mm)
Actuator Micrometer (13mm) Fine Pitch Positioner FPPO3-13 (13mm) >>((>>((YY
o ¥55,000 ¥110,000 ¥91,000 ¥182,000
rice(JPY)
F—IN—K—ILE - - - - z
Overhaul Price %3 ¥15,000 ¥30,000 ¥15,000 ¥30,000 -
I =2 ) AR
Clean Room Lubricant Change Price ¥12,000 ¥24,000 ¥12,000 SZRERD
HERHURSBE B%
Vacuum Lubricant Change Price 2 ¥12,000 ¥24,000 ¥12,000 ¥24,000 Rotation
sq BFEL. BEROMEBFICOVTIED-004N—YEBRLTTFEL, V=T AEFOBKIEKEIC “-C” PRHEET. FMICOVTIE
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003X—2 & BB LTTFE(), S3-CL. S3-R-CL. S3-RRR-CLOJ U 24~
Configuration. L XBE. AMEOKZERYVET. (3=4)
%2 XAF—SBEDE—X > MIBEIRO—ILBIE LY ET, #4 Clean room_lubrican_t model has “C” at the e_nd of modgl number. Page C-003 Swiivall
& Moment Stiffness of single X stage is measured in Roll Direction. for further mformatlon. Lubricant exchange is not available for actuators on (Tilt)
F— S LR EENE A, BHICOLTRI5R—T% stages that include the 83 model, P54
@ iy aksiliyiel et A 2 B AEEORREKRIC V' SHEET. BMICDOOTIEC-003~ S
g BRELULTTEW (R170X—8AY NEF—N—FR—IHEHERVET) . SEBBLTTEL L R-OL RRR.OLD S 1) 23 XV
Additional parts cost is not included on Overhaul cost. Refer to page 16 for - ”“‘T\F—F L. 83-CL. S3-R-CL. S3- -CLOTY A3 AT—=Y
further information (Micrometer is not included in the overhaul). %5 AhDHE ‘_* JET, N XY6
¢ Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
further information. Lubricant exchange is not available for actuators on stages
that include the S3 model.
B X Z{T1k Vertical X linear stage customizing
WEZRAT7 S5y beRWAZET XAT—V%ZAT—VELTHRAT A ENAIRETY . /20, ETBLEDEDICAT D2 ZHRICTZBEDNHY T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.
BEFRDZELZICKYBROYEL A T, T IICDOVTIFO-00IR—=2 7B LU TREL, E;I’ia—i
FLKIFEERETEHVEDETEL, Refer to page 0-001 for information on accessory. Motor
We appreciate the product customizing. Contact us for further information. Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
57
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-025



T | 28X - XYRF— / F=T WYL X TOXT0

System
Manual X, XY Linear Stages / Table Size 70X70

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

XMO7A-C1 XMO7A-C3-CL

YMO7A-C1 YMO7A-C3-CL

[ElEn

Rotation

@ XM07A-C1 @ YMO7A-C1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY i “n
XeXY 4

40 L 40 (5) .21 21
Clamp®d15
5-M4 Depth 5mm

\‘V/@E
e | &

£e )

\¢ 1

'\ 8-M3 Depth 5mm

Clamp®15

(16.5)
8
(16.5)

5-M4 Depth 5mm

T

70
60
30
©[ 20
j:@
a

70
60
40
30
40

N
>
S
4

&

)

€

-©-

z ¢ 4
8M3 Depth 5mm (58.5)

[ElEA

Rotation

(58.5)

Micrometer Head N Micrometer Head

ol SO e === S —

Swivel

(Tilt) /
4-for M4 screws VO PPN C, G
= [Je0 @@
7354 Shaft Length 2.5mm - Ll*‘.J -
XZ & . 4-for M4 screws
ATF—=Y Shaft Length 2.5mm
XYe
Bz
25—
Vacuum
Stage

@ XMO07A-C3-CL @ YMO7A-C3-CL

HIHEE
Control
Electron-
ics

E\—?— _ 60 60
avhO-3 40 40 (15) 21 21

Motor
Controller Clamp®15 Clamp®15
5-M4 Depth 5mm

RSA4N 5-M4 Depth 5mm
Ry IR
Driver
Box

77 o
J—vav | . o T
Applica- o

tion & \ ¢¢]

D

(16.5)
8
(16.5)
w
o

mij
H

70
60

40
30
70
60

40
30

— -

SN
'\ 8-M3 Depth 5mm

4

o

(75.5)

ET—9—

T N 8M3 Depth 5mm
RSN P
Motor
Driver

E=/=
T—=2
Motor
Cable

8%
Appendix [ [|

(75.5)

Micrometer Head FPP03-13

7S I Micrometer Head FPP03-13

7t 4-for M4 screws 60 g Ho 0 0 i !
H— Shaft Length 2.5mm i
Accesso- 4-for M4 screws

ries Shaft Length 2.5mm LJso

RE
VAT I
Inspection
System

D-026 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



PNR | PORO=S K 124 90X-5225-80 i 57 D )

Aluminum Body / Cross-Roller Guide / Center-Mount Micrometer

BR
Model Number

XMO7A-C1 YMO7A-C1 XMO7A-C3-CL YMO7A-C3-CL

BsFE VR

Mirror Model Number ~

XMO7A-C1-R YMO7A-C1-RRR

XMO7A-C3-R-CL

YMO7A-C3-RRR-CL

F—7)E
Table Size

70mmx70mm

ESAVEY

Guide Mechanism

BEHEI/OZAO—FHCK
Cross-Roller Guide

B EEE

Motion Range

#8E) 13mm, &) 0.3mm

+
£6.5mm Coarse 13mm, Fine 0.3mm

HEE
Straightness

=2um/13mm

BR/ANFAHEL)
Minimum Readout

#HE) 10um/B8%, 8 ~ 0.5um/B&&
Coarse 10um/div, Fine = 0.5um/div

10um/B&
10pm/div

E—XUMITE
Moment Load Stiffness ~

0.1 arcsec/N-cm 0.2 arcsec/N-cm 0.1 arcsec/N-cm 0.2 arcsec/N-cm

IKIETRE
Load Capacity (Horizontal)

58.8N (6ksf) 53.9N (5.5kgf) 58.8N (6ksf) 53.9N (5.5kgf)

HE

Material

TILIEE
Aluminum Alloy

s
Finish

Btk
Clear-Matt Anodizing

BE
Weight

0.44kg 0.88kg 0.48kg 0.96kg

BEXE

Perpendicularity

=20um/13mm — =20um/13mm

BREN

Actuator

¥EEARTaF— FPP03-13(13mm)
Fine Pitch Positioner FPPO3-13 (13mm)

RATOX—ZAYR (13mm)
Micrometer (13mm)

it
Price(JPY)

¥40,000 ¥80,000 ¥76,000 ¥152,000

F—N—K—IE
Overhaul Price S

¥15,000 ~ ¥30,000 ~ ¥15,000 ~ ¥30,000 ~

D=2 T ) ARGE

Clean Room Lubricant Change Price

¥12,000 ¥24,000 ¥12,000 ¥24,000

BEJ)ARIGE

Vacuum Lubricant Change Price ~

¥12,000 ¥24,000 ¥12,000 ¥24,000

EXA

Industrial

RERA
Experi-
mental

FEEE
25—
Manual
Stage

[ElEn

Rotation

AANIL
(I==)
Swivel
(Tilt)

%1

%2

BFE. BEROMEHBFICDONTIED-004X—2%BR L TTFEL.

Refer to pageD-004 for Information on Standard and Mirror Symmetry
Configuration.

XATF—VBEOQE—XY MIERO-BIEERYET,

Moment Stiffness of single X stage is measured in Roll Direction.
F=N—FR—VBICZBBHRREEENELA, FRICOVTRIER-D%
%3 BRULTFEV (RAM7AX=2AY REF—N—R—IHERAERYVET)
Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul).

V=27 ) AHHFOBKIEKREIC -C” PEEET. FMICOVTIE
C-003N—2%BRLTT &), C3-CL. C3-R-CL. C3-RRR-CLDYJ A
KHald. KEDHER)ET

*4  Clean room lubricant model has “C” at the end of model number. Page C-003
for further information. Lubricant exchange is not available for actuators on
stages that include the C3 model.

BZ2J D ZMEHROBNRIEIREIC V" PEFEET. FMICDLTIZC-003N
—2%BBLTFEL), C3-CL. C3-R-CL. C3-RRR-CLOJ A% L.
%5 AAEDHER)ET

Vacuum lubricant model has “-V” at the end of model number. Page C-003 for

further information. Lubricant exchange is not available for actuators on stages
that include the C3 model.

B X Z{T1k Vertical X linear stage customizing

WMEBZAT 7Y NeRWAIET. XAT—V%ZAT—VELTHRATBZENFIRETY ., 2720, ETHLEDEDICAT—JZZERICTIHVEDPHY £T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

BERDCERICKBRADLEL A ET .
FHUSEEERBETHEHVEDETEL.

T 7Y VDN TIZO-00IR—=ZBR L TTFEL,

Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

XXY

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

D-027



T | 28X - XYRF— / F=T WYL X TOXT0

System
Manual X, XY Linear Stages / Table Size 70X70

Products

E%R

Industrial

RERA
Experi-

Manual

Stoge XMO7F-C1 XMO7F-C3-CL

YMO7F-C1 YMO7F-C3-CL
[ElEn

Rotation

@ XMO7F-Cc1 @ YMO7F-C1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY i “n
XeXY 4

40 L 40 (5) .21 21
Clamp®d15
5-M4 Depth 5mm

\‘V/@E
e | &

£e )

\¢ 1

'\ 8-M3 Depth 5mm

Clamp®15

(16.5)
8
(16.5)

5-M4 Depth 5mm

T

70
60
30
©[ 20
j:@
a

70
60
40
30
40

N
>
S
4

&

)

€

-©-

z ¢ 4
8M3 Depth 5mm (58.5)

[ElEA

Rotation

(58.5)

Micrometer Head N Micrometer Head

ol SO e === S —

Swivel

(Tilt) /
4-for M4 screws VO PPN C, G
= [Je0 @@
7354 Shaft Length 2.5mm - Ll*‘.J -
XZ & . 4-for M4 screws
ATF—=Y Shaft Length 2.5mm
XYe
Bz
25—
Vacuum
Stage

@ XMO7F-C3-CL @ YMO7F-C3-CL

HIHEE
Control
Electron-
ics

E\—?— _ 60 60
avhO-3 40 40 (15) 21 21

Motor
Controller Clamp®15 Clamp®15
5-M4 Depth 5mm

RSA4N 5-M4 Depth 5mm
Ry IR
Driver
Box

77 o
J—vav | . o T
Applica- o

tion & \ ¢¢]

D

(16.5)
8
(16.5)
w
o

mij
H

70
60

40
30
70
60

40
30

— -

SN
'\ 8-M3 Depth 5mm

4

o

(75.5)

ET—9—

T N 8M3 Depth 5mm
RSN P
Motor
Driver

E=/=
T—=2
Motor
Cable

8%
Appendix

(75.5)

Micrometer Head FPP03-13

-
N

7S I Micrometer Head FPP03-13

7t 4-for M4 screws 60 g Ho 0 0 i !
H— Shaft Length 2.5mm i
Accesso- 4-for M4 screws

ries Shaft Length 2.5mm LJso

RE
VAT I
Inspection
System

D-028 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
$%/90A0-544 K/ 34 y05=4t€4-#L 1< T

Steel Body / Cross-Roller Guide / Center-Mount Micrometer

EXHA
Industrial
BR
M XMO7F-C1 YMO7F-C1 XMO7F-C3-CL YMO7F-C3-CL
odel Number -
BB o
i S BLEIR XMO7F-C1-R YMO7F-C1-RRR XMO7F-C3-R-CL YMO7F-C3-RRR-CL Expert-
irror Model Number mental
F—7)E
Table Size 70mm>70mm e
E SV KEEoNAO—SH1K AT—Y
Guide Mechanism Cross-Roller Guide g"tzgéa‘
ey ¥88) 13mm, #E) 0.3mm
Mot +6.5mm -
otion Range Coarse 13mm, Fine 0.3mm
HEE
Straightness S2um/13mm
BR/ANFTAHEL) 10um/B &% ¥8E) 10um/BE%, %) ~ 0.5um/BE%
Minimum Readout 10pm/div Coarse 10um/div, Fine = 0.5um/div
M %—X‘/I\ﬁi X 0.08 arcsec/N-cm 0.16 arcsec/N-cm 0.08 arcsec/N-cm 0.16 arcsec/N-cm
oment Load Stiffness
KERHE m%
Load Capacity (Horizontal) 117.6N (12kgf) 107.8N (1 1kgf) 117.6N (12kgf) 107.8N (1 1kef) Rotation
ur=t %
Material Steel 24~
S8R S b Xy B (I=#)
Finish Nickel Plating Swivel
A= (Tilt)
Weight 0.92kg 1.84kg 0.96kg 1.92kg
BEXE _ = _ =
Ry =20um/13mm =20um/13mm
BREH A YAOX—ZAYR(13mm) ¥EEARTaF— FPP03-13(13mm)
Actuator Micrometer (13mm) Fine Pitch Positioner FPPO3-13 (13mm) >>((>>((YY
o ¥55,000 ¥110,000 ¥91,000 ¥182,000
rice(JPY)
F—IN—K—ILE - - - - z
Overhaul Price %3 ¥15,000 ¥30,000 ¥15,000 ¥30,000 -
I =2 ) AR
Clean Room Lubricant Change Price ¥12,000 ¥24,000 ¥12,000 SZRERD
HERHURSBE B%
Vacuum Lubricant Change Price 2 ¥12,000 ¥24,000 ¥12,000 ¥24,000 Rotation
sq BFEL. BEROMEBFICOVTIED-004N—YEBRLTTFEL, V=2 J ) AEFOBKIEKREIC “-C” PRHEET. FMICOVTIE
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003N—2 BB L TTFXL), C3-CL. C3-R-CL. C3-RRR-CLOJ U 24~
Configuration. L XBE. AMEOKZERYVET. (3=4)
%2 XAF—SBEDE—X > MIBEIRO—ILBIE LY ET, #4 Clean room_lubrican_t model has “C” at the e_nd of modgl number. Page C-003 Swiivall
& Moment Stiffness of single X stage is measured in Roll Direction. for further mformatlon. Lubricant exchange is not available for actuators on (Tilt)
F— S LR EENE A, BHICOLTRI5R—T% stages that include the €3 model, P54
@ iy aksiliyiel et A 2 B AEOBREKRIC V' SHEET. BMICDOOTIEC-003~ S
%3 BRULTFEIV (RA7AX=2AY REF—N—R—IHERAERYET) SABELTEEL L R.OL RRR.OLD S | 25 XYb
Additional parts cost is not included on Overhaul cost. Refer to page 16 for - "“‘T\F—F L. C3-CL. C3-R-CL. C3- -CLOT ) AZ I AT—=Y
further information (Micrometer is not included in the overhaul). %5 AhDHE ‘_* JET, N XY6
¢ Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
further information. Lubricant exchange is not available for actuators on stages
that include the C3 model.
B X Z{T1k Vertical X linear stage customizing
WEZRAT7 S5y beRWAZET XAT—V%ZAT—VELTHRAT A ENAIRETY . /20, ETBLEDEDICAT D2 ZHRICTZBEDNHY T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.
BEFRDZELZICKYBROYEL A T, T IICDOVTIFO-00IR—=2 7B LU TREL, E;I’ia—i
FLKIFEERETEHVEDETEL, Refer to page 0-001 for information on accessory. Motor
We appreciate the product customizing. Contact us for further information. Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
57
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-029



| FHEEXYRT D/ T-TNYL X T0XT0

System
Manual Thin XY Linear Stage / Table Size 70xX70

Products

EXHA

Industrial

RERA
Experi-

Manual
Stage

YMO7A-S1W

[EIL

Rotation

@ YMO7A-S1W

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY
XoXY (22) 70

42 20

z Clamp ¢8 .40 d28thru
(Bottom Axis) 30 (Minimum Valid Size®28)
\Sottom Axis) |

(19.3)

[
[
=

[EIL

Rotation

4-92 Depth 4mm |
Setting Pin Hole @ ©

Clamp ®8 > |3
(Top Axis) 9/ ©

8-M3 Depth 5mm
4-M4 Depth 4.5mm

ZAR)L
(T=#)
Swivel
(Tilt)
734
XUk
27—
XYe

Bz
AF=
Vacuum
Stage

70

]
©
N

30
40
42
60

(29.5)

(0.5)

Micrometer Head
(Bottom Axis)

Micrometer Head
(Top Axi

HIHEE
Control
Electron-
ics

==
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U 4 Depth 5mm
TF—ay
Applica-

N
1]
tion S
E—5— )
RSN\
Motor
Driver
| [}
|
\

=m
Back Side

42
50
0

E=T—=
T—7 4-M4 Depth 5mm
Motor
Cable

— |
4 for M4 screws
Shaft Length 1.5mm

153 N%
Appendix [

4 Depth 5mm

7|71z 50 BBEXY ((fE&) CTOMWUMIFERYET,
TU— 60 Mounting by low head screw (attachment)
Accesso-

ries

RE
VAT I
Inspection
System

D-030 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



73/ 40A0=-FH4 K/ 94 90X=44%41 KL B ems

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

EXHA
Industrial
e
Model Number YMO7A-S1W —
BFEOVEX Experi-
Mirror Model Number mental
F—7)E
Table Size 70mm>x70mm FEEE
RAHR BE/OAO—SHAR AF—Y
Guide Mechanism Cross-Roller Guide Manual
B Seee
+
Motion Range £3mm
HEE <
Straightness =1um/6mm
BR/ANFTAEL) 10um/B &%
Minimum Readout 10pm/div
E—XUMITE
Moment Load Stiffness 0.4 arcsec/N-cm
KERHE B8
Load Capacity (Horizontal) 49N (5kef) Rotation
e TIVIES
Material Aluminum Alloy =
A =)=N = (3=%)
Finish Clear-Matt Anodizing Swivel
e (Tilt)
Weight 0.36kg
BERE =
Perpendicularity =5um/6mm
ERBh A YA 7AX—&AYK (6.5mm)
Actuator Micrometer (6.5mm) X-XY
e XeXY
Price(JPY) ¥75,000
F—IN—R—IVE - z
Overhaul Price el ¥30,000 z
I =2 ) AR E
Clean Room Lubricant Change Price ¥24,000
HEHURSBE B%
Vacuum Lubricant Change Price e ¥24,000 Rotation
F=N—FR—BICZBEBHRRIEENELA, FRICOVTRIER-D% BZEJ Y ZEHROBKXIEIKREIC V" PMEEET. F#MICDLTIEC-003N

sy BBLTFEN (RA/OX—EAY REF—N—h—LHZAERVET) . w3 —JEBBLTFAL, =
Additional parts cost is not included on Overhaul cost. Refer to page 16 for Vacuum lubricant model has “-V” at the end of model number. Page C-003 for (3=)
further information (Micrometer is not included in the overhaul). further information. Swi\;I
V=T ) AEKROBRIFKRREIC -C" HPEEET. F#HICOVTIE (Tilt)

%2 C-003N—2%BRLTTFEL, 754
Clean room lubricant model has “-C” at the end of model number. Page C-003 PN
for further information. 25—

XYe
o BERODCEZICKYHEROBEE AN ET . o 7Y IIZDNWTIFO-001N—=J BB LTREL,

FLLLIFEERETHEHOEDETEL, Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information.
tT-5—-
JvhO-3
Motor
Controller
RS\
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
7=
Motor
Cable
8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-031



227 FHX - XYRAT=D / TF=TIMHL X 100X 100

System
Manual X,XY Linear Stages / Table Size 100X 100

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

XM10A-S1 XM10A-S3-CL

YM10A-S1 YM10A-S3-CL
[ElEn

Rotation

@ XM10A-S1 @ YM10A-S1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

100 (26) 100

90 90 Clamp®15

60 60 —_— 22 22
40
30
ol L ER ] o
X-XY et
XeXY

Clamp®d15 .30
9-M4 Depth 6mm |

(16.5)
(16.5)

8-M3 Depth 6mm | 2 H

P
9-M4 Depth 6mm = 4

oF
4
P
4

100

8-M3 Depth 6mm

30

40

60

90
1

4
©

3
&

(26) ]

EIE =T
Rotation (137)

(26)
@7)

(137)

ZAN)L
(I=%) Micrometer Head Micrometer Head
Swivel ol
(Tilt) ~
734 4-for M4 screws
PN Shaft Length 3mm T
25— 4-for M4 screws 90
XY6 Shaft Length 3mm
Bz

25—

Vacuum @ XM10A-S3-CL @ YM10A-S3-CL
Stage

HIHEE
Control
Electron- 100

(28) 100

90 20 Clamp®15

F—9— 60 60 (7.5) 22 22
Jvho-3 40 40

Motor 30 Clamp®15 30
Controller 9-M4 Depth 6mm|

oy o = J=, s A,
[H i 8M3 Depth 6mm| >
Driver 9-M4 Depth 6mm
Box
&M3 Depth 6mm olo
— 8-M3 Depth 6mm (LIRSS
TF—ay
Applica-
tion
ET—9—
RSN\
Motor
Driver (295

E=g— Micrometer Head FPP03-13 Micrometer Head FPP03-13
T—=2 ol
Motor N #
Cable 4-for M4 screws %g‘

{153 Shaft Length 3mm [ Y | /1

Appendix 4-for M4 screws
Shaft Length 3mm

ics

(16.5)
(16.5)

=

i
—

60
90
10!

[ — .o

=

11.5

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-032 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



PV /[ 90A0=F5H4 K/ 34 70X=44%41 FRL 1< T

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

BR
Model Number

XM10A-S1

BsFE VR

Mirror Model Number ~

XM10A-S1-R

F—7)E
Table Size

YM10A-S1

YM10A-S1-RRR

XM10A-S3-CL YM10A-S3-CL

XM10A-S3-R-CL

YM10A-S3-RRR-CL

100mmx100mm

ESAVEY

Guide Mechanism

BEHEI/OZAO—FHCK
Cross-Roller Guide

B EEE

Motion Range

+12.5mm

#8E) 13mm, #&) 0.3mm

Coarse 13mm, Fine 0.3mm

HEE
Straightness

=2um/25mm

=1.5um/13mm

BR/ANFAHEL)
Minimum Readout

10um/B&
10pm/div

188 10um/B8%, 8 ~ 0.5um/B&&
Coarse 10um/div, Fine = 0.5um/div

E—XUMITE
Moment Load Stiffness ~

0.07 arcsec/N-cm

0.14 arcsec/N-cm

0.07 arcsec/N-cm 0.14 arcsec/N-cm

IKIETRE
Load Capacity (Horizontal)

98N (10ksf)

88.2N (9ksf)

98N (10ksf) 88.2N (9ksf)

&

Material

TILIEE
Aluminum Alloy

S8
Finish

Bfaft kS
Clear-Matt Anodizing

BE
Weight

0.85kg

1.7kg

0.85kg 1.7kg

BEXE

Perpendicularity

=20um/25mm

=20um/13mm

BREN

Actuator

YATOX—BZAYR (25mm)
Micrometer (25mm)

¥EEARTaF— FPP03-13(13mm)
Fine Pitch Positioner FPPO3-13 (13mm)

it
Price(JPY)

¥55,000

¥110,000

¥91,000 ¥182,000

F—N—K—IE
Overhaul Price &

¥15,000 ~

¥30,000 ~

¥15,000 ~ ¥30,000 ~

=2 ) ARGE

Clean Room Lubricant Change Price

¥12,000

¥24,000

¥12,000 ¥24,000

BEJ)ARGE

Vacuum Lubricant Change Price ~

¥12,000

¥24,000

¥12,000 ¥24,000

%1

BFEO. BEROEBFICONTIED-004X—U 28R L TTFEL,

Refer to pageD-004 for Information on Standard and Mirror Symmetry

Configuration.

p XAF—VEHEDT—X MEERO— VALY ET, >'<4
Moment Stiffness of single X stage is measured in Roll Direction.
F=N—FR—VBICZBBHRREEENELA, FRICOVTRIER-D%

%3 BRULTFEIV (RA7AX=2AY REF—N—R—IHERAERYET)

Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul). %5

B X Z{T1k Vertical X linear stage customizing
WMEBZAT 7Y NeRWAIET. XAT—V%ZAT—VELTHRATBZENFIRETY ., 2720, ETHLEDEDICAT—JZZERICTIHVEDPHY £T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

BERDCERICKBRADLEL A ET .
FHUSEEERBETHEHVEDETEL.

We appreciate the product customizing. Contact us for further information.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

7

U= J) AMEROBKRIFKEIC -C” PEEZET. FMICDOVTI
C-003X—=T BB L TTEL, S3-CL. S3-R-CL. S3-RRR-CLOYJJ A
ik, NMEOHERY ET,

Clean room lubricant model has “-C” at the end of model number. Page C-003
for further information. Lubricant exchange is not available for actuators on
stages that include the S3 model.

BZ2J D ZEHROBKRIEIREIC V" PMEFEET. FMICDTIZC-003N
—2aBBLTTEL, S3-CL. S3-R-CL. S3-RRR-CLD Y1) AZZH#alE.
AAEDHER)ET

Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
further information. Lubricant exchange is not available for actuators on stages
that include the S3 model.

72 VICDNTIZO-00IR—TZBR L TTFEL,

Refer to page 0-001 for information on accessory.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

FEEE
25—
Manual
Stage

[ElEn

Rotation

AANIL
(I==)
Swivel
(Tilt)

XXY

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

D-033



227 FHX - XYRAT=D / TF=TIMHL X 100X 100

System
Manual X, XY Linear Stages / Table Size 100x 100

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

XM10F-S1 XM10F-S3-CL

YM10F-S1 YM10F-S3-CL
[ElEn

Rotation

@ XM10F-S1 @ YM10F-s1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

100 (26) 100

90 90 Clamp®15

60 60 —_— 22 22
40
30
ol L ER ] o
X-XY A
XeXY

Clamp®d15 .30
9-M4 Depth 6mm |

(16.5)
(16.5)

8-M3 Depth 6mm > 4

P
9-M4 Depth 6mm | g

oF
4
P
4

100
100

30
40
60
90

8-M3 Depth 6mm

s
©

3
&

(26) ]
)

B4 =T
Rotation (137)

|(26)

(137)

ZAN)L
(T=#) Micrometer Head Micrometer Head
Swivel hi Y
(Tilt) N

754 4-for M4 screws

AU K Shaft Length 3mm T
=_ 3y 4-for M4 screws

);&;' Y Shaft Length 3mm %0

Bz

AF=

\é?;;gm @ XM10F-S3-CL @ YM10F-S3-CL

HIHEE
Control
Electron- 100

ics (28) 100
90 20 Clamp®15

£—9— 60 60 (7.5) \ 22 22

Jvho-3 40 40

Motor 30 Clamp®15 30
Controller 9-M4 Depth 6mm|

oy o = J=, s A,
[H i 8M3 Depth 6mm| >
Driver 9-M4 Depth 6mm
Box
&M3 Depth 6mm olo
— 8-M3 Depth 6mm (LIRSS
TF—ay
Applica-
tion
ET—9—
RSN\
Motor
Driver (295

E=g— Micrometer Head FPP03-13 Micrometer Head FPP03-13
T—=2 ol
Motor N #
Cable 4-for M4 screws %g‘

{153 Shaft Length 3mm [ Y | /1

Appendix 4-for M4 screws
Shaft Length 3mm

(16.5)
(16.5)

=

i
—

60
90
10!

[ — .o

=

11.5

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-034 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
&%/ 90A0=-544 K/ 24 o0Xx=44%1 FAL 1< T

Steel Body / Cross-Roller Guide / Side-Mount Micrometer

EXHA
Industrial
BR
M XM10F-S1 YM10F-S1 XM10F-S3-CL YM10F-S3-CL
odel Number -
BB o
i S BLEIR XM10F-S1-R YM10F-S1-RRR XM10F-S3-R-CL YM10F-S3-RRR-CL Expert-
irror Model Number mental
F—7)E
Table Size 100mm>100mm e
ESVE KEEoNA0—SH1K AT—Y
Guide Mechanism Cross-Roller Guide g"tzgéa‘
ey 188 13mm, &) 0.3mm
Mot +12.5mm -
otion Range Coarse 13mm, Fine 0.3mm
HEE
Straightness =2um/25mm =1.5um/13mm
B/ NaRAEL) 10um/B&% #HE) 10um/B8%, 8 ~ 0.5um/B&&
Minimum Readout 10pm/div Coarse 10um/div, Fine = 0.5um/div
M %—X‘/I\ﬁi X 0.04 arcsec/N-cm 0.08 arcsec/N-cm 0.04 arcsec/N-cm 0.08 arcsec/N-cm
oment Load Stiffness
KERHE m%
Load Capacity (Horizontal) 196N (20ksgf) 176.4N (18kef) 196N (20ksgf) 176.4N (18kef) Rotation
%=t %
Material Steel 24~
S8R Zub Xy R B (I=#)
Finish Nickel Plating Swivel
A= (Tilt)
Weight 1.6kg 3.2kg 1.6kg 3.2kg
BEXE < S <
Perpendicularity =20um/25mm =20um/13mm
BREH A YAIOX—ZA\YR(25mm) ¥EEARTaF— FPP03-13(13mm)
Actuator Micrometer (25mm) Fine Pitch Positioner FPPO3-13 (13mm) >>((>>((YY
o ¥65,000 ¥130,000 ¥101,000 ¥202,000
rice(JPY)
F—N—K—IE - - - - z
Overhaul Price %3 ¥15,000 ¥30,000 ¥15,000 ¥30,000 -
I =2 G ) ARG E
Clean Room Lubricant Change Price ¥12,000 St ¥12,000 SZRERD
HERHURSBE B%
Vacuum Lubricant Change Price 2 ¥12,000 ¥24,000 ¥12,000 ¥24,000 Rotation
sq BFEL. BEROMEBFICOVTIED-004N—YEBRLTTFEL, V=T AEFOBKIEKEIC “-C” PRHEET. FMICOVTIE
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003X—2 & BB LTTFE(), S3-CL. S3-R-CL. S3-RRR-CLOJ U 24~
Configuration. . Riald. AEOHERYET, (3=4)
. XAF—SBEDE—X > MIBEIRO—ILBIE Y ET, #4 Clean room lubricant model has “C” at the end of model number. Page C-003 Swiivall
*2 Moment Stiffness of single X stage is measured in Roll Direction. for further ipformation. Lubricant exchange is not available for actuators on (Tilt)
F— S LR EENE A, BHICOLTRI5R—T% stages that include the 83 model, P54
w3 BELTFEL (7{75;(“:_&/\\y Mi?}'—/%—ud'\—)l«ﬂ%%ttl) 7). RZEJAMEROBKXFREIC V" BHEET. FMICOVTIEC-003N Xk
: Additional parts cost is not included on Overhaul cost. Refer to page 16 for —y&%?ﬁk;{?éb\u S3-CL. S3-R-CL. S3-RRR-CLOJ ) A A=)
further information (Micrometer is not included in the overhaul). %5 AhDHE ‘_* JET, XY6
¢ Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
further information. Lubricant exchange is not available for actuators on stages
that include the S3 model.
B X Z{T1k Vertical X linear stage customizing
WEZRAT7 S5y beRWAZET XAT—V%ZAT—VELTHRAT A ENAIRETY . /20, ETBLEDEDICAT D2 ZHRICTZBEDNHY T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.
BEFRDZELZICKYBROYEL A T, T IICDOVTIFO-00IR—=2 7B LU TREL, E;I’ia—i
FLKIFEERETEHVEDETEL, Refer to page 0-001 for information on accessory. Motor
We appreciate the product customizing. Contact us for further information. Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
57
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-035



227 FHX - XYRAT=D / TF=TIMHL X 100X 100

System
Manual X, XY Linear Stages / Table Size 100x 100

Products

E%R

Industrial

RERA
Experi-

Manual

Stage XM10A-C1 XM10A-C3-CL

YM10A-C1 YM10A-C3-CL
[ElEn

Rotation

@ XM10A-C1 @ YM10A-C1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY B—==1F
X-XY b

100 100
920 90
60 60 (5.5) 22 22

40 40
Clamp®15

30 Clamp®15
9-M4 Depth 6mm

(16.5)
<]
(16.5)

100
90
60
40
30

10!
90
60
40
30

+ ¥

S a— <,

¢ \ 4] s
(95.5)
SR 9-M4 Depth 6mm 8-M3 Depth 6mm

Rotation 8M3 Depth 6mm (27.5)

-3
K
4
&

)
[Te}
e

ZAR)L

(I=#)

Swivel Micrometer Head

(Tilt)

PR
754 S T —— =,

N
SIS i Micrometer Head

25— 4-for M4 screws 190 9 ;ZP@@%M
XYe Shaft Length 3mm

=] 4-for M4 screws (190 ‘
Rz
25— Shaft Length 3mm

Vacuum
Stage

HIHEE
Control
Electron-

= @ XM10A-C3-CL @ YM10A-C3-CL
tT5—-
avhk0-5
Motor
Controller 100 100

RS54\
Ry IR
Driver
Box

77U = 5
TF—ay ]
Applica- rs
tion

ET—9—
RSA4N I — +

18.5

9.5

(14.5) 22 22

60 60

40 40 Clamp®d15
.30 Clamp®15 30

(16.5)
(16.5)

9-M4 Depth 6mm

Ao

100
90
60
40
30

Motor

Driver A V\ \¢

F_g— (75.5)
=7 9-M4 Depth 6mm - \8M3 Depth 6mm
Motor 8-M3 Depth 6mm (36.5) :

Cable

ﬁﬁ L N
Appendix Micrometer Head FPP03-13 ’
 Micrometer Head FPPO3-1:

10
90
60
40
30

[

3 I
o | 4

/{’

&
AW;

& —Jy—o

¢

(75.5)

N
N

7ot ; H
HU— 4-for M4 screws
e Shaft Length 3mm [Js0

B

Micrometer Head FPP03-13

18.5

ries

9.5

4-for M4 screws
BE Shaft Length 3mm
VAT I

Inspection

System

D-036 ‘ CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com




PNR | PORO=S K 124 90X-5225-80 i 57 D )

Aluminum Body / Cross-Roller Guide / Center-Mount Micrometer

EXHA
Industrial
e XM10A-C1 YM10A-C1 XM10A-C3-CL YM10A-C3-CL
Model Number —
S G E&F
Mi BFEOER % XM10A-C1-R YM10A-C1-RRR XM10A-C3-R-CL YM10A-C3-RRR-CL Experi-
irror Model Number mental
7oL 100mm>x100mm
able Size FENEE
ESAV e BH/OA0—7H1R RF—Y
Guide Mechanism Cross-Roller Guide g/ltanua‘
BUEE 188 13mm, #E 0.3mm o
f +12.5mm -
Motion Range Coarse 13mm, Fine 0.3mm
SEE
Straightness =2um/25mm =1.5um/13mm
=\ A ) 10um/B5% 188 10um/BE%, M3 ~ 0.5um/BEE
Minimum Readout 10pum/div Coarse 10pym/div, Fine & 0.5pum/div
M JE_X/I\EE X 0.07 arcsec/N-cm 0.14 arcsec/N-cm 0.07 arcsec/N-cm 0.14 arcsec/N-cm
oment Load Stiffness
IKFMHAETE Ol#n
Load Capacity (Horizontal) 98N (10kef) 88.2N (9kgf) 98N (10kgf) 88.2N (9kgf) Rotation
"E FIIE
Material Aluminum Alloy o
5 BBtk o
Finish Clear-Matt Anodizing Swivel
HE (Tilt)
Weight 0.85kg 1.7kg 0.85kg 1.7ksg
BEXE
Perpendicularity =20um/25mm =20um/13mm
ERENAR YA YAX—=EAYR(25mm) ¥EHEARI> 3+ —FPP03-13(13mm)
Actuator Micrometer (25mm) Fine Pitch Positioner FPPO3-13 (13mm) >>(<>>(<J
.ﬁﬁ% ¥55,000 ¥110,000 ¥91,000 ¥182,000
Price(JPY)
AT ¥15,000 ~ ¥30,000 ~ ¥15,000 ~ ¥30,000 ~ z
verhaul Price z
I ) =2 T ) A% E
Clean Room Lubricant Change Price 112,000 ¥24,000 112,000 124,000
BZ2J AR E . I
Vacuum Lubricant Change Price ~ ¥12,000 ¥24.,000 ¥12,000 ¥24,000 Rotation
s BFEL. BEROMEHFICONTIED-004N—YZBRLTT S, =20 ) AEHROBRIEKEIC -C” HPREET. FMICOVTIE
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003X—T & BB L TFX(), C3-CL. C3-R-CL. C3-RRR-CLDFJ R N
Configuration. L, G AEOHERVET, ?(j'f_’\z'}—l)/
. XAF—DBEDE—X Y MIEIFO—ILBIME Y ET, 4 Clean room lubricant model has “-C” at the end of model number. Page C-003 Swi\;I

*2 Moment Stiffness of single X stage is measured in Roll Direction. for further iﬁformation. Lubricant exchange is not available for actuators on (Tilt)

A N R LB R BBAREE TN E A, FEICONTIH15R—S% stages that include the C3 model. —

g BRLTFEN (Y4505 —5~y KA ——H—LHBIERYET) . Ry Y AEBORRERRI "V FHERT. BBICOLTEC003) | 5T

: Additional parts cost is not included on Overhaul cost. Refer to page 16 for _7%?§§}:F—Féb\° C3-CL. C3-R-CL. C3-RRR-CLDZ Y RS, A=)
further information (Micrometer is not included in the overhaul). %5 AEDHE e JET, XYé
: Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
further information. Lubricant exchange is not available for actuators on stages
that include the C3 model.

HitE Z Z{L#% Vertical X linear stage customizing

WBZRT7 7Y hNeBWBAIET. XAT =YV ZAT—VELTHIRT R ZENFRETY ., /20, BETBLEDAEDICAT D2 ZERICTIBEDNHY T (EETH

IEEUET), ZHEBEADBEEIC DN TIED-004N—2 DIBFROHE TIE T I, 1ZERA TOMBEZRAT—IICDVTIRE-016X—UZZBE T &L,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page

D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

o PEROIBLILLYRIDBELEY £T. 7 oY UILDNTIFO-001R—IEBRBLTFEL, ios
FHLLLIFEERETHEHOEDETEL, Refer to page 0-001 for information on accessory. Mgtor e
We appreciate the product customizing. Contact us for further information. Controller

RS\
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
7=
Motor
Cable
1153
Appendix
BEOEDEIE*TEL:044-981-2131 7 FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-037



227 FHX - XYRAT=D / TF=TIMHL X 100X 100

System
Manual X, XY Linear Stages / Table Size 100x 100

Products

E%R

Industrial

RERA
Experi-

Manual

Stoge XM10F-C1 XM10F-C3-CL

YM10F-C1 YM10F-C3-CL

[ElEn

Rotation

@ XM10F-Cc1 @ YM10F-C1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY ===
X+ XY b

100 100
920 90
60 60 (5.5) 22 22

40 40
Clamp®15

30 Clamp®15
9M4 Depth 6mm

(16.5)
<]
(16.5)

100
90
60
40
30

10!
90
60
40
30

+ ¥

S a— <,

¢ \ 4] s
(95.5)
SR 9-M4 Depth 6mm 8-M3 Depth 6mm

Rotation 8-M3 Depth 6mm (27.5)

-3
R4
4
&

)
[Te}
e

ZAR)L

(I=#)

Swivel Micrometer Head

(Tilt)

PR
754 S T —— =,

N
SIS i Micrometer Head

25— 4-for M4 screws 190 9 ;ZP@@%M
XYe Shaft Length 3mm

=] 4-for M4 screws (190 ‘
Rz
25— Shaft Length 3mm

Vacuum
Stage

18.5

9.5

HIHEE
Control
Electron-

ics @ XM10F-C3-CL @ YM10F-C3-CL

tT5—-
avhk0-5
Motor
Controller 100 100

RS54\
Ry IR
Driver
Box

77U & I
TF—ay ]
Applica- rs
tion
ET—9—
RSN\ —— +,
Motor o

Driver A V\ \¢

F_g— (75.5)
=7 9-M4 Depth 6mm - \8M3 Depth 6mm
Motor 8-M3 Depth 6mm (36.5) :

Cable

ﬁﬁ L N
Appendix Micrometer Head FPP03-13 ’
 Micrometer Head FPPO3-1:

(14.5) 22 22

60 60

40 40 Clamp®d15
.30 Clamp®15 30

(16.5)
(16.5)

9-M4 Depth 6mm

Ao

100
90
60
40
30

10
90
60
40
30

[

3 I
o | 4

/{’

&
AW;

& —Jy—o

¢

(75.5)

N
N

7ot i :
HU— 4-for M4 screws
ety Shaft Length 3mm Cieo

B

Micrometer Head FPP03-13

18.5

ries

9.5

4-for M4 screws
BE Shaft Length 3mm
VAT I

Inspection

System

D-038 ‘ CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com




I S ——————
%/ y0A0-344 K/ v4o05=4t€v5-AL 1< T

Steel Body / Cross-Roller Guide / Center-Mount Micrometer

EXHA
Industrial
BR
M XM10F-C1 YM10F-C1 XM10F-C3-CL YM10F-C3-CL
odel Number -
BB o
i S BLEIR XM10F-C1-R YM10F-C1-RRR XM10F-C3-R-CL YM10F-C3-RRR-CL Expert-
irror Model Number mental
F—7)E
Table Size 100mm>100mm e
E SV KEEoNAO—SH1K AT—Y
Guide Mechanism Cross-Roller Guide g"tzgéa‘
ey ¥8E) 13mm, &) 0.3mm
Mot +12.5mm -
otion Range Coarse 13mm, Fine 0.3mm
HEE
Straightness =2um/25mm =1.5um/13mm
=/ NaRAEL) 10um/B&% #HE) 10um/B8%, 8 ~ 0.5um/B&&
Minimum Readout 10pm/div Coarse 10um/div, Fine = 0.5um/div
M %—X‘/I\ﬁi X 0.04 arcsec/N-cm 0.08 arcsec/N-cm 0.04 arcsec/N-cm 0.08 arcsec/N-cm
oment Load Stiffness
KERHE B%
Load Capacity (Horizontal) 196N (20ksgf) 176.4N (18kef) 196N (20ksgf) 176.4N (18kef) Rotation
%=t %
Material Steel 24~
S8R Zub Xy R B (I=#)
Finish Nickel Plating Swivel
A= (Tilt)
Weight 1.6kg 3.2kg 1.6kg 3.2kg
BEXE < S <
Perpendicularity =20um/25mm =20um/13mm
BREH A YAIOX—ZA\YR(25mm) ¥EEARTaF— FPP03-13(13mm)
Actuator Micrometer (25mm) Fine Pitch Positioner FPPO3-13 (13mm) >>((>>((YY
o ¥65,000 ¥130,000 ¥101,000 ¥202,000
rice(JPY)
F—N—K—IE - - - - z
Overhaul Price %3 ¥15,000 ¥30,000 ¥15,000 ¥30,000 -
I =2 G ) ARG E
Clean Room Lubricant Change Price ¥12,000 St ¥12,000 SZRERD
HERHURSBE B%
Vacuum Lubricant Change Price 2 ¥12,000 ¥24,000 ¥12,000 ¥24,000 Rotation
sq BFEL. BEROMEBFICOVTIED-004N—YEBRLTTFEL, V=2 J ) AEFOBKIEKREIC “-C” PRHEET. FMICOVTIE
) Refer to pageD-004 for Information on Standard and Mirror Symmetry C-003N—2 BB L TTFXL), C3-CL. C3-R-CL. C3-RRR-CLOJ U 24~
Configuration. L XBE. AMEOKZERYVET. (3=4)
. XAF—SBEDE—X > MIBEIRO—ILBIE Y ET, #4 Clean room lubricant model has “C” at the end of model number. Page C-003 Swiivall
*2 Moment Stiffness of single X stage is measured in Roll Direction. for further ipformation. Lubricant exchange is not available for actuators on (Tilt)
F— S LR EENE A, BHICOLTRI5R—T% stages that include the €3 model, P54
w3 BELTFEL (7475)< YN Mi?}'—/%—ud'\—)l«ﬂ%%ttl) 7). RZEJ Y AMHEOBRIKREIC -V HHEET, %Hl:?b\fﬂi&OOS& Xk
: Additional parts cost is not included on Overhaul cost. Refer to page 16 for _V;é%g“arlf;(—FéL\° C3-CL. C3-R-CL. C3-RRR-CLOJ ) AL, A=)
further information (Micrometer is not included in the overhaul). %5 AhDHE ‘_* JET, XY6
¢ Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
further information. Lubricant exchange is not available for actuators on stages
that include the C3 model.
B X Z{T1k Vertical X linear stage customizing
WEZRAT7 S5y beRWAZET XAT—V%ZAT—VELTHRAT A ENAIRETY . /20, ETBLEDEDICAT D2 ZHRICTZBEDNHY T (EETH
SELUET), ZHEEADBEEIC DN TIFD-004N—2 DBFROMETIE TS0, BESA TOMBIZAT—IICDVWTIRE-016RX—J & ZB T &0,
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.
BEFRDZELZICKYBROYEL A T, T IICDOVTIFO-00IR—=2 7B LU TREL, E;I’ia—i
FLKIFEERETEHVEDETEL, Refer to page 0-001 for information on accessory. Motor
We appreciate the product customizing. Contact us for further information. Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
57
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-039



| FBX - XYRF—Y / F—=F NP4 X 130%x130

System
Manual X,XY Linear Stages / Table Size 130x 130

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

XM13A-S1 XM13F-S1

YM13A-S1 YM13F-S1

[EIL

Rotation

@ XM13A-S1/XM13F-S1 @ YM13A-S1/YM13F-S1

130 130

110 110 Clamp®20
90 Clamp®20 90

50 5M5 Depth 8mm 60
40 40
30, 8M4 Depth 8mm -39,

8M3 Depth 8mm \\ p
P R:

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

(17.5)
(17.5)

5-M5 Depth 8mm

X-XY >
XeXY 8-M4 Depth 8mm - &

8-M3 Depth 8mm__|

30
40
60
920
110
130

&3
30
40
60
2
110
130

&
<
-

R

[EIEA

Rotation

@ @_n.‘_@

li26)

(153) |(26)

ZAR)L
(I=#)
Swivel

(Tilt) , Micrometer Head Micrometer Head

754 g
XUk
25— 4-for M5 screws

) Shaft Length 3mm

28 28

4-for M5 screws

Bz Shaft Length 3mm 110
AF=

Vacuum

Stage

HIHEE
Control
Electron-
ics

tT5—-
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U
J—vav
Applica-
tion

ET—9—
RSN\
Motor
Driver

E=/=
T—=2
Motor
Cable

8%
Appendix

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-040 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



-4 ______________________________________________________________________________
TV, §/ 9y0A0=F54 K / 24 /05=4%1 FRL 1< T

Aluminum, Steel Body / Cross-Roller Guide / Side-Mount Micrometer

EXA
Industrial
BR
M XM13A-S1 YM13A-S1 XM13F-S1 YM13F-S1
odel Number =BE
= A SR
Mi BFREOER X XM13A-S1-R YM13A-S1-RRR XM13F-S1-R YM13F-S1-RRR Experi-
irror Model Number mental
F—7)E
Table Size 130mmx*130mm oy
ES P BE/OAO—SHAR AF—Y
Guide Mechanism Cross-Roller Guide Manual
BERE Stage
Motion Range +12.5mm
HEE
Straightness =2um/25mm
BR/ANGAHEL) 10um/B &%
Minimum Readout 10pm/div
E—XUMITE
Moment Load Stiffness 0.05 arcsec/N-cm 0.1 arcsec/N-cm 0.03 arcsec/N-cm 0.06 arcsec/N-cm
IKFMHETE [EE
Load Capacity (Horizontal) 147N (15kgf) 127.4N (13ksgf) 294N (30ksf) 254 8N (26ksgf) Rotation
ME F7ILZAE %
Material Aluminum Alloy Steel .
5 = " ZAN)L
Fay 3 Bttt ZVg Xy FAE B (I=#)
Finish Clear-Matt Anodizing Nickel Plating Swivel
BE (Tilt)
Weight 1.7kg 3.4kg 3.2kg 6.4kg
BEXE _ = _ =
Perpendicularity =20um/25mm =20um/25mm
EXENH RATOX—BZAYR (25mm)
Actuator Micrometer (25mm) >>((>>((YY
o ¥70,000 ¥140,000 ¥85,000 ¥170,000
rice(JPY)
F—N—k—IL&E - - - - z
Overhaul Price %3 ¥21,000 ¥42,000 ¥21,000 ¥42,000 -
I =2 ) ARG E
Clean Room Lubricant Change Price ¥18,000 ¥36.000 ¥18,000 ¥36,000
HRHURSBE B%
Vacuum Lubricant Change Price 2 ¥18,000 ¥36,000 ¥18,000 ¥36.000 Rotation

BFEO. BEROEBFICOVTIID-004AX—U 28R UL TTFEL, V=27 ) AHHROBRIEKREIC -C”" PEEET. FMICOVTIE

%1 s
Refer to pageD-004 for Information on Standard and Mirror Symmetry kg CO0BN—TZBRLTTE0, 24~
Configuration. Clean room lubricant model has “-C” at the end of model number. Page C-003 (3=4)
for further information. Swivel

sp XAT—VBHEOE—X> MIERO—BIEERY &7,
) Moment Stiffness of single X stage is measured in Roll Direction.

825 AEHROBRIFKRRIC -V PRHEEY. FHEICDLTEC-003N (Tilt)
—VEBRLTTFEL,

A—N—A— L BCRBRBRREEETNELA, FRICONTIFIER—V% %5 . . 754
. BRLTTE (YA 7OX—ZAY RgF—N—R— LSRN ET) Vacuum lubricant model has “-V” at the end of model number. Page C-003 for XUk
3 ; further information. 2F—3

Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul). XY6

HtE X Z{L#% Vertical X linear stage customizing

MBZAT STy beAWHIET XAT—V%ZAT—VELTHAI D IENFRETT, L. BTBLEDEDICAT 2% ZRRICTDHLEDNH Y ET (ERET
BELET), ZHEFEADBEEIC DN TIED-004N—2 DBFROMHE TIE TS0, BESA TOMBEZAT—IICDVTIRE-O16RX—J & ZBE T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

BEROIELICKYRRBOBEDLEY ET, TP IICDNTIFO-00IR=U7 BB L TTEL,
FLCIFEERETHEHVEDETEL, Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information. £—5—
JvhO-3
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion

tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-041



| FBX - XYRF—Y / F—=F NP4 X 130%x130

System
Manual X,XY Linear Stages / Table Size 130x 130

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

XM13A-C1 XM13F-C1

YM13A-C1 YM13F-C1
[EIL

B3

S

= +
-
<+
A+
\_8M4 Depth 8mm
8-M3 Depth 8mm

Z - ‘ <+

z & +
8M4 Depth 8mm |/ (95.5)

@ 8-M3 Depth 8mm

Rotation

€

Rotation
@ XM13A-C1/XM13F-C1 @ YM13A-C1/YM13F-C1
130 130
24N 110 110
(3=) 90 90 (5), 28 28
Swivel ?18 ?18
(Tilt) ol —~
e E 30 Clamp®20 2 30 Clamp®20
Lt N o . N o 5-M5 Depth 8mm
25— - ﬂ a 5-M5 Depth 8mm n ﬂ n
Motorized 11 P E
Stage ES Y [
X-XY 4 <
XeXY olo < s |
GEEEEEE GECEEER sgg >
¢ + ¢

(95.5)

ZAR)L
(I==)
Swivel

(Tilt) Micrometer Head Micrometer Head

751 J 5

X Z ~ <5 o E 1525 m—
ATF—Y ]*
XY6 4-for M5 screws / 110

Shaft Length 3mm
Bz 4for M5 screws 110
RATF—Y Shaft Length 3mm

Vacuum
Stage

24

HIHEE
Control
Electron-
ics

tT5—-
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U
J—vav
Applica-
tion

ET—9—
RSN\
Motor
Driver

E=/=
T—=2
Motor
Cable

8%
Appendix

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-042 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
TV, &/ 90A0=-354 K/ w4 ynx=4t45-HL 1< T

Aluminum, Steel Body / Cross-Roller Guide / Center-Mount Micrometer

EXA
Industrial
BR
M XM13A-C1 YM13A-C1 XM13F-C1 YM13F-C1
odel Number =BE
= A SR
Mi BFREOER X XM13A-C1-R YM13A-C1-RRR XM13F-C1-R YM13F-C1-RRR Experi-
irror Model Number mental
F—7)E
Table Size 130mmx*130mm oy
ES P BE/OAO—SHAR AF—Y
Guide Mechanism Cross-Roller Guide Manual
BERE Stage
Motion Range +12.5mm
HEE
Straightness =2um/25mm
BR/ANGAHEL) 10um/B &%
Minimum Readout 10pm/div
E—XUMITE
Moment Load Stiffness 0.05 arcsec/N-cm 0.1 arcsec/N-cm 0.03 arcsec/N-cm 0.06 arcsec/N-cm
IKFMHETE [EE
Load Capacity (Horizontal) 147N (15kgf) 127.4N (13ksgf) 294N (30ksf) 254 8N (26ksgf) Rotation
ME F7ILZAE %
Material Aluminum Alloy Steel .
5 = " ZAN)L
Fay 3 Bttt ZVg Xy FAE B (I=#)
Finish Clear-Matt Anodizing Nickel Plating Swivel
BE (Tilt)
Weight 1.7kg 3.4kg 3.2kg 6.4kg
BEXE _ = _ =
Perpendicularity =20um/25mm =20um/25mm
EXENH RATOX—BZAYR (25mm)
Actuator Micrometer (25mm) >>((>>((YY
o ¥70,000 ¥140,000 ¥85,000 ¥170,000
rice(JPY)
F—N—k—IL&E - - - - z
Overhaul Price %3 ¥21,000 ¥42,000 ¥21,000 ¥42,000 -
I =2 ) ARG E
Clean Room Lubricant Change Price ¥18,000 ¥36.000 ¥18,000 ¥36,000
HRHURSBE B%
Vacuum Lubricant Change Price 2 ¥18,000 ¥36,000 ¥18,000 ¥36.000 Rotation

BFEO. BEROEBFICOVTIID-004AX—U 28R UL TTFEL, V=27 ) AHHROBRIEKREIC -C”" PEEET. FMICOVTIE

%1 s
Refer to pageD-004 for Information on Standard and Mirror Symmetry kg CO0BN—TZBRLTTE0, 24~
Configuration. Clean room lubricant model has “-C” at the end of model number. Page C-003 (3=4)
for further information. Swivel

sp XAT—VBHEOE—X> MIERO—BIEERY &7,
) Moment Stiffness of single X stage is measured in Roll Direction.

825 AEHROBRIFKRRIC -V PRHEEY. FHEICDLTEC-003N (Tilt)
—VEBRLTTFEL,

A—N—A— L BCRBRBRREEETNELA, FRICONTIFIER—V% %5 . . 754
. BRLTTE (YA 7OX—ZAY RgF—N—R— LSRN ET) Vacuum lubricant model has “-V” at the end of model number. Page C-003 for XUk
3 ; further information. 2F—3

Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul). XY6

HtE X Z{L#% Vertical X linear stage customizing

MBZAT STy beAWHIET XAT—V%ZAT—VELTHAI D IENFRETT, L. BTBLEDEDICAT 2% ZRRICTDHLEDNH Y ET (ERET
BELET), ZHEFEADBEEIC DN TIED-004N—2 DBFROMHE TIE TS0, BESA TOMBEZAT—IICDVTIRE-O16RX—J & ZBE T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

BEROIELICKYRRBOBEDLEY ET, TP IICDNTIFO-00IR=U7 BB L TTEL,
FLCIFEERETHEHVEDETEL, Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information. £—5—
JvhO-3
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion

tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-043



T | FBX - XYRF—Y / F—T NP4 X 160X 160

System
Manual X,XY Linear Stages / Table Size 160X 160

Products

E%R

Industrial

RERA
Experi-

Manual

Seee XM16A-S1 XM16F-S1

YM16A-S1 YM16F-S1

[EIL

Rotation

@ XM16A-S1/XM16F-S1 @ YM16A-S1/YM16F-S1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X XY
XeXY

160 160

140
Clamp®20 110 Clamp®20

90
60
40

4-M5 Depth 7mm u
i 5-M5 Depth 10mm

8-M4 Depth 10mm

(18)

| (18)

4-M3 Depth 10mm
2 8-M4 Depth 10mm

5-M5 Depth 10mm

4-M5 Depth 7mm

[EIEA |

Rotation

4-M3 Depth 10mm

40
60
90
110
140
160

i
60
90

110

4

160

7
I
W

17

(168) (168)

(20) |
(28]

ZAARN)
(a=#)
Swivel
(Tilt)
754

HE1 8 (%=

Rt m‘

XY 4-for M5 screws [J140 o
Bz Shaft Length 4.5mm 4-for M5 screws QD:MO

25— Shaft Length 4.5mm
Vacuum
Stage

Micrometer Head Micrometer Head

32 32

HIHEE
Control
Electron-
ics

tT5—-
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U
J—vav
Applica-
tion

ET—9—
RSN\
Motor
Driver

E=/=
T—=2
Motor
Cable

8%
Appendix

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-044 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



-4 ______________________________________________________________________________
PA3, %/ JHRE=F54 K [ 4905-544 AL oz 5o D D B

Aluminum, Steel Body / Cross-Roller Guide / Side-Mount Micrometer

EXHA
Industrial
BR
M XM16A-S1 YM16A-S1 XM16F-S1 YM16F-S1
odel Number w887
Mi BFREOER X XM16A-S1-R YM16A-S1-RRR XM16F-S1-R YM16F-S1-RRR Experi-
irror Model Number mental
F—7)E
Table Size 160mmx*160mm TR
RAHR BE/OAO—SHAR AF—Y
Guide Mechanism Cross-Roller Guide Manual
B Seee
Motion Range +12.5mm
HEE
Straightness =2um/25mm
BR/ANGAHEL) 10um/B &%
Minimum Readout 10pm/div
E—XAUMTE
Moment Load Stiffness 0.03 arcsec/N-cm 0.06 arcsec/N-cm 0.02 arcsec/N-cm 0.04 arcsec/N-cm
IKIETRE [ElEn
Load Capacity (Horizontal) 196N (20ksgf) 166.6N (17kgf) 392N (40ksgf) 333.2N (34ksf) Rotation
ME F7ILZAE %
Material Aluminum Alloy Steel .
3 = " AAN)L
SR Ay Zur Xy R ==
Finish Clear-Matt Anodizing Nickel Plating Swivel
HE (Tilt)
Weight 2.7kg 5.4kg 10.8kg
BEXE _ = _ =
Perpendicularity =20um/25mm =20um/25mm
ERBI A YA7AX—8A\YK (25mm)
Actuator Micrometer (25mm) >>((>>((YY
o ¥75,000 ¥150,000 ¥120,000 ¥240,000
rice(JPY)
F—N—k—IL& - - - - Z
Overhaul Price %3 ¥21,000 ¥42,000 ¥21,000 ¥42,000 -
I =2 ) AR E
Clean Room Lubricant Change Price ¥18,000 ¥36.000 ¥18,000 ¥36.000
HEHURSBE B%
Vacuum Lubricant Change Price =2 ¥18,000 ¥36,000 ¥18,000 ¥36.000 Rotation
s BFEL. BEROMEBFICOVTIED-004N—YEBRLTTFEL, U= J) AMEROBKRIFKEIC -C” PEEZET. FMICOVTI
) Refer to pageD-004 for Information on Standard and Mirror Symmetry kg CO0BN—TZBRLTTE0, 24~
Configuration. Clean room lubricant model has “-C” at the end of model number. Page C-003 (3=)
5o XAF—VBEOE—XY MIEGO—VBIEERY T, for further information. Swivel
““  Moment Stiffness of single X stage is measured in Roll Direction. BZJ ) ZAHROBRIEEKEIC -V HSHEET. FHICDOTIEC-003X (Tilt)
A—N—A—LBICEBRRIEEENELA, FHICONTIRIER—V% x5 —YEBRLTFEL. 754
. BRLTTE (YA 7OX—ZAY RgF—N—R— LSRN ET) Vacuum lubricant model has “-V" at the end of model number. Page C-003 for XUk
3 ; further information. 25—

Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul). XY6

HtE X Z{L#% Vertical X linear stage customizing

MBZAT STy beAWHIET XAT—V%ZAT—VELTHAI D IENFRETT, L. BTBLEDEDICAT 2% ZRRICTDHLEDNH Y ET (ERET
BELET), ZHEFEADBEEIC DN TIED-004N—2 DBFROMHE TIE TS0, BESA TOMBEZAT—IICDVTIRE-O16RX—J & ZBE T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

BEROIELICKYRRBOBEDLEY ET, TP IICDNTIFO-00IR=U7 BB L TTEL,

FLCIFEERETHEHVEDETEL, Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information. £—5—
JvhO-3
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-045



T | FBX - XYRF—Y / F—T NP4 X 160X 160

System
Manual X,XY Linear Stages / Table Size 160X 160

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

XM16A-C1 XM16F-C1

YM16A-C1 YM16F-C1

[EIL

Rotation

@ XM16A-C1/XM16F-C1 @ YM16A-C1/YM16F-C1

160 160
140

AR
(T=#)
Swivel

(Tilt)

BEEE
ATF—=Y
Motorized

(3 ., 32 32
Clamp®20

Clamp®20

(18)

(18)

4-M5 Depth 7mm 4-M5 Depth 7mm

5-M5 Depth 10mm 5-M5 Depth 10mm =
Stage Il
X-XY
X=XY ¢
CEEERE gelsiglgle
|| Qo Q3 dlo|e+ ;
Z - 4 +
z 2 ¢
2 \ + [

(95.5)
4-M3 Depth 10
o ep mm 8-M4 Depth 10mm

. 8-M4 Depth 10mm B
Rotation (35) 8 4-M3 Depth 10mm
24~ ‘
(I=#)
(S]_\ﬁlt\)/el Micrometer Head

_ Micrometer Head
734

Xk o @f : —
- u i
XYe

=z 4-for M5 screws []140

25— Shaft Length 4.5mm

Vacuum
Stage

26

4-for M5 screws [J140
Shaft Length 4.5mm

HIHEE
Control
Electron-
ics

tT5—-
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U
J—vav
Applica-
tion

ET—9—
RSN\
Motor
Driver

E=/=
T—=2
Motor
Cable

8%
Appendix

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-046 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
TV, &/ 90A0=-354 K/ w4 ynx=4t45-HL 1< T

Aluminum, Steel Body / Cross-Roller Guide / Center-Mount Micrometer

EXHA
Industrial
BR
XM16A-C1 YM16A-C1 XM16F-C1 YM16F-C1
Model Number w887
Mi BFREOER X XM16A-C1-R YM16A-C1-RRR XM16F-C1-R YM16F-C1-RRR Experi-
irror Model Number mental
F—7)E
Table Size 160mmx*160mm TR
RAHR BE/OAO—SHAR AF—Y
Guide Mechanism Cross-Roller Guide Manual
BEBE Stage
Motion Range +12.5mm
HEE
Straightness =2um/25mm
BR/ANGAHEL) 10um/B &%
Minimum Readout 10pm/div
E—XAUMTE
Moment Load Stiffness 0.03 arcsec/N-cm 0.06 arcsec/N-cm 0.02 arcsec/N-cm 0.04 arcsec/N-cm
IKIETRE [ElEn
Load Capacity (Horizontal) 196N (20ksgf) 166.6N (17kgf) 392N (40ksgf) 333.2N (34ksf) Rotation
ME F7ILZAE %
Material Aluminum Alloy Steel .
3 = " AANIL
SR Ay Zur Xy R ==
Finish Clear-Matt Anodizing Nickel Plating Swivel
HE (Tilt)
Weight 2.9kg 5.8kg 11.6kg
BEXE _ = _ =
Perpendicularity =20um/25mm =20um/25mm
ERBI A YA7AX—8A\YK (25mm)
Actuator Micrometer (25mm) >>((>>((YY
o ¥75,000 ¥150,000 ¥120,000 ¥240,000
rice(JPY)
F—N—k—IL& - - - - Z
Overhaul Price %3 ¥21,000 ¥42,000 ¥21,000 ¥42,000 -
I =2 ) AR E
Clean Room Lubricant Change Price ¥18,000 ¥36.000 ¥18,000 ¥36.000
HEHURSBE B%
Vacuum Lubricant Change Price =2 ¥18,000 ¥36,000 ¥18,000 ¥36.000 Rotation
s BFEL. BEROMEBFICOVTIED-004N—YEBRLTTFEL, U= J) AMEROBKRIFKEIC -C” PEEZET. FMICOVTI
) Refer to pageD-004 for Information on Standard and Mirror Symmetry kg CO0BN—TZBRLTTE0, 24~
Configuration. Clean room lubricant model has “-C” at the end of model number. Page C-003 (3=)
5o XAF—VBEOE—XY MIEGO—VBIEERY T, for further information. Swivel
““  Moment Stiffness of single X stage is measured in Roll Direction. BZJ ) ZAHROBRIEEKEIC -V HSHEET. FHICDOTIEC-003X (Tilt)
A—N—A—LBICEBRRIEEENELA, FHICONTIRIER—V% x5 —YEBRLTFEL. 754
. BRLTTE (YA 7OX—ZAY RgF—N—R— LSRN ET) Vacuum lubricant model has “-V" at the end of model number. Page C-003 for XUk
3 ; further information. 25—

Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul). XY6

HtE X Z{L#% Vertical X linear stage customizing

MBZAT STy beAWHIET XAT—V%ZAT—VELTHAI D IENFRETT, L. BTBLEDEDICAT 2% ZRRICTDHLEDNH Y ET (ERET
BELET), ZHEFEADBEEIC DN TIED-004N—2 DBFROMHE TIE TS0, BESA TOMBEZAT—IICDVTIRE-O16RX—J & ZBE T &0,

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information.

BEROIELICKYRRBOBEDLEY ET, TP IICDNTIFO-00IR=U7 BB L TTEL,

FLCIFEERETHEHVEDETEL, Refer to page 0-001 for information on accessory.

We appreciate the product customizing. Contact us for further information. £—5—
JvhO-3
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-047



-
FHX - XYRAT—

Manual X, XY Linear Stages List

&5 &

N Ee
v —B5

EXMA
Industrial
X F—7IE & EhEEmE KM= BE ‘ TEAi ‘ BEAN—2
Model Number Table Size Motion Range Load Capacity (Horizontal) Weight Price(JPY) Page
it GXMO3S-S1 30mmx30mm +3.25mm 19.6N (2kef) 0.1kg ¥19,000 | D-010~D-011
Sy GYMO3S-S1 (2axis) | 30mmx30mm +3.25mm (XY) 19.6N (2kef) 0.2kg ¥38,000 | D-010~D-011
GXMO4S-S1 40mm X 40mm +6.5mm 49N (5kgf) 0.23kg ¥19,000 D-010~D-011
GYMO04S-S1 (2axis) 40mm X 40mm +6.5mm (XY) 49N (5ksgf) 0.46kg ¥38,000 D-010~D-011
GXMO5S-S1 50mm X 50mm +6.5mm 78.4N (8kgf) 0.31kg ¥20,000 D-012~D-013
Manual GYMO5S-S1 (2axis) 50mmXx50mm +6.5mm (XY) 78.4N (8kef) 0.62kg ¥40,000 | D-012~D-013
Stage GXMO7S-S1 70mmx 70mm +6.5mm 117.6N (12kef) 0.57kg ¥26,000 | D-012~D-013
GYMO7S-S1 (2axis) 70mm X 70mm +6.5mm (XY) 117.6N (12kgf) 1.14kg ¥52,000 D-012~D-013
GXMO3S-C1 30mm X 30mm +3.25mm 19.6N (2kgf) 0.1kg ¥19,000 D-014~D-015
GYMO3S-C1 (2axis) 30mm X 30mm +3.25mm (XY) 19.6N (2kgf) 0.2kg ¥38,000 | D-014~D-015
GXMO04S-C1 40mm X 40mm +6.5mm 49N (5kgf) 0.23kg ¥19,000 D-014~D-015
5 GYMO04S-C1 (2axis) 40mm X 40mm +6.5mm (XY) 49N (5kgf) 0.46kg ¥38,000 D-014~D-015
GXMO5S-C1 50mm X 50mm +6.5mm 78.4N (8kgf) 0.31kg ¥20,000 D-016~D-017
GYMO5S-C1 (2axis) 50mm X 50mm +6.5mm (XY) 78.4N (8ksf) 0.62kg ¥40,000 | D-016~D-017
LA GXMO7S-C1 70mm X 70mm +6.5mm 117.6N (12kgf) 0.57kg ¥26,000 D-016~D-017
Rotation GYMO7S-C1 (2axis) 70mm X 70mm +6.5mm (XY) 117.6N (12kgf) 1.14kg ¥52,000 D-016~D-017
XMO4A-SH 40mm X 40mm +3.25mm 39.2N (4kef) 0.1kg ¥35,000 D-018~D-019
- YMO4A-S1 (2axis) 40mm X 40mm +3.25mm (XY) 39.2N (4ksgf) 0.2kg ¥70,000 D-018~D-019
(Zj’"(—’;L), XMO5A-S1 50mm X 50mm +3.25mm 39.2N (4kgf) 0.23kg ¥40,000 D-018~D-019
Swivel YMO5A-S1 (2axis) 50mm x 50mm +3.25mm (XY) 39.2N (4kgf) 0.46kg ¥80,000 D-018~D-019
(Tilt) XMO5A-S3-CL 50mm X 50mm Coarse 13mm, Fine 0.3mm 39.2N (4kgf) 0.3kg ¥76,000 D-018~D-019
YMO5A-S3-CL  (2axis) 50mm X 50mm Coarse 13mm, Fine 0.3mm  (XY) 39.2N (4ksf) 0.6kg ¥152,000 | D-018~D-019
XMO5A-C1 50mm X 50mm +3.25mm 39.2N (4kef) 0.22kg ¥40,000 D-020~D-021
YMOS5A-C1 (2axis) 50mm X 50mm +3.25mm (XY) 39.2N (4kgf) 0.44kg ¥80,000 D-020~D-021
XMO5A-C3-CL 50mm X 50mm Coarse 13mm, Fine 0.3mm 39.2N (4ksgf) 0.3ks ¥76,000 D-020~D-021
X-XY YMO5A-C3-CL  (2axis) 50mm X 50mm Coarse 13mm, Fine 0.3mm  (XY) 39.2N (4kgf) 0.6kg ¥152,000 | D-020~D-021
LY XMO7A-S1 70mm X 70mm +6.5mm 58.8N (6kgf) 0.43kg ¥40,000 | D-022~D-023
YMO7A-SH (2axis) 70mmX70mm +6.5mm (XY) 53.9N (5.5kgf) 0.86kg ¥80,000 | D-022~D-023
7 XMO7A-S3-CL 70mm X 70mm Coarse 13mm, Fine 0.3mm 58.8N (6kgf) 0.47kg ¥76,000 D-022~D-023
7 YMO7A-S3-CL  (2axis) 70mmX70mm Coarse 13mm, Fine 0.3mm  (XY) 53.9N (5.5kgf) 0.93kg ¥152,000 | D-022~D-023
XMO7F-S1 70mm X 70mm +6.5mm 117.6N (12kgf) 0.92kg ¥55,000 D-024~D-025
YMO7F-S1 (2axis) 70mmXx70mm +6.5mm (XY) 107.8N (1 1ksf) 1.84kg ¥110,000 | D-024~D-025
[=ER XMO7F-S3-CL 70mmX70mm Coarse 13mm, Fine 0.3mm 117.6N (12kgf) 0.96kg ¥91,000 D-024~D-025
Rotation YMO7F-S3-CL (2axis) 70mm X 70mm Coarse 13mm, Fine 0.3mm (XY) 107.8N (1 1kgf) 1.92kg ¥182,000 | D-024~D-025
XMO7A-C1 70mmXx70mm +6.5mm 58.8N (6kgf) 0.44kg ¥40,000 D-026~D-027
- YMO7A-C1 (2axis) 70mmX70mm +6.5mm (XY) 53.9N (5.5kgf) 0.88kg ¥80,000 | D-026~D-027
?j{—,\zj-l)/ XMO7A-C3-CL 70mm X 70mm Coarse 13mm, Fine 0.3mm 58.8N (6kgf) 0.48ksg ¥76,000 D-026~D-027
Sl YMO7A-C3-CL  (2axis) 70mm X 70mm Coarse 13mm, Fine 0.3mm  (XY) 53.9N (5.5kgf) 0.96kg ¥152,000 | D-026~D-027
(Tilt) XMO7F-C1 70mm X 70mm +6.5mm 117.6N (12kgf) 0.92kg ¥55,000 D-028~D-029
FSA YMO7F-C1 (2axis) 70mmXx70mm +6.5mm (XY) 107.8N (1 1ksf) 1.84kg ¥110,000 | D-028~D-029
XV~ XMO7F-C3-CL 70mm X 70mm Coarse 13mm, Fine 0.3mm 117.6N (12kgf) 0.96ksg ¥91,000 D-028~D-029
AF—=Y YMO7F-C3-CL (2axis) 70mm X 70mm Coarse 13mm, Fine 0.3mm (XY) 107.8N (1 1kgf) 1.92kg ¥182,000 | D-028~D-029
Y0 YMO7A-S1W  (2axis) | 70mmx70mm +3mm (XY) 49N (5ksf) 0.36kg | ¥75,000 | D-030~D-031
XM10A-S1 100mm X 100mm +12.5mm 98N (10kegf) 0.85kg ¥55,000 | D-032~D-033
YM10A-S1 (2axis) | 100mmXx100mm +12.5mm (XY) 88.2N (9kgf) 1.7kg ¥110,000 | D-032~D-033
XM10A-S3-CL 100mmX 100mm | Coarse 13mm, Fine 0.3mm 98N (10kgf) 0.85kg ¥91,000 | D-032~D-033
YM10A-S3-CL  (2axis) | 100mmX 100mm Coarse 13mm, Fine 0.3mm (XY) 88.2N (9ksgf) 1.7kg ¥182,000 | D-032~D-033
XM10F-S1 100mm X 100mm +12.5mm 196N (20kgf) 1.6kg ¥65,000 D-034~D-035
YM10F-S1 (2axis) | 100mmx 100mm +12.5mm (XY) 176.4N (18ksf) 3.2kg ¥130,000 | D-034~D-035
XM10F-S3-CL 100mmX100mm | Coarse 13mm, Fine 0.3mm 196N (20kgf) 1.6kg ¥101,000 | D-034~D-035
-9- YM10F-S3-CL  (2axis) | 100mmX100mm | Coarse 13mm, Fine 0.3mm  (XY) 176.4N (18kgf) 3.2kg ¥202,000 | D-034~D-035
IVh0-3 XM10A-C1 100mm X 100mm +12.5mm 98N (10kgf) 0.85kg ¥55,000 D-036~D-037
o e | YM10A-C1 (2axis) | 100mmx 100mm £12.5mm (XY) 88.2N (9kgf) 1.7kg | ¥110,000 | D-086~D-037
e XM10A-C3-CL 100mmX100mm | Coarse 13mm, Fine 0.3mm 98N (10kegf) 0.85kg ¥91,000 D-036~D-037
;\3;9 YM10A-C3-CL  (2axis) | 100mmx100mm Coarse 13mm, Fine 0.3mm (XY) 88.2N (9kgf) 1.7kg ¥182,000 | D-036~D-037
Bifvar XM10F-C1 100mm X 100mm +12.5mm 196N (20kgf) 1.6kg ¥65,000 | D-038~D-039
Box YM10F-C1 (2axis) | 100mmXx100mm +12.5mm (XY) 176.4N (18ksf) 3.2kg ¥130,000 | D-038~D-039
77 XM10F-C3-CL 100mmX100mm | Coarse 13mm, Fine 0.3mm 196N (20ksf) 1.6kg ¥101,000 | D-038~D-039
g—3> YM10F-C3-CL  (2axis) | 100mmx100mm Coarse 13mm, Fine 0.3mm (XY) 176.4N (18kgf) 3.2kg ¥202,000 | D-038~D-039
Gg;’”ca' XM13A-S1 130mm X 130mm +12.5mm 147N (15kgf) 1.7kg ¥70,000 D-040~D-041
YM13A-S1 (2axis) | 130mmx 130mm +12.5mm (XY) 127.4N (13ksgf) 3.4kg ¥140,000 | D-040~D-041
-9~ XM13F-S1 130mmx 130mm +12.5mm 294N (30kgf) 3.2kg ¥85,000 | D-040~D-041
,\I;I;Oj/\ YM13F-S1 (2axis) | 130mmx130mm +12.5mm (XY) 254.8N (26ksgf) 6.4kg ¥170,000 | D-040~D-041
Driver XM13A-C1 130mm X 130mm +12.5mm 147N (15ksf) 1.7kg ¥70,000 D-042~D-043
E YM13A-C1 (2axis) | 130mmXx130mm +12.5mm (XY) 127.4N (13kgf) 3.4kg ¥140,000 | D-042~D-043
r— XM13F-C1 130mm X 130mm +12.5mm 294N (30ksf) 3.2kg ¥85,000 D-042~D-043
Motor YM13F-C1 (2axis) | 130mmx130mm +12.5mm (XY) 254 8N (26kgf) 6.4kg ¥170,000 | D-042~D-043
et XM16A-S1 160mm X 160mm +12.5mm 196N (20kgf) 2.7kg ¥75,000 D-044~D-045
187 YM16A-S1 (2axis) | 160mmx 160mm +12.5mm (XY) 166.6N (17ksf) 5.4kg ¥150,000 | D-044~D-045
Al XM16F-S1 160mm X 160mm +12.5mm 392N (40kgf) 5.4kg ¥120,000 | D-044~D-045
YM16F-S1 (2axis) | 160mmXx160mm +12.5mm (XY) 333.2N (34ksf) 10.8kg ¥240,000 | D-044~D-045
XM16A-C1 160mm X 160mm +12.5mm 196N (20ksgf) 2.7kg ¥75,000 D-046~D-047
YM16A-C1 (2axis) | 160mmXx160mm +12.5mm (XY) 166.6N (17kgf) 5.4kg ¥150,000 | D-046~D-047
XM16F-C1 160mm X 160mm +12.5mm 392N (40ksf) 5.4kg ¥120,000 | D-046~D-047
YM16F-C1 (2axis) | 160mmx 160mm +12.5mm (XY) 333.2N (34ksf) 10.8kg ¥240,000 | D-046~D-047
BFEOBERIEEBLTOET
Mirror Model Number is omitted
D-048 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com





